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Note : After due analysis of the above question papers, 4379 questions related to Indian &
World Geography have been presented chapter wise. Questions of repetitive and similar
nature have been included so that the technique of asking questions can benefit the
competitors.
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INDIAN GEOGRAPHY

01.

General Introduction

Geological History & Rock
System

1. Which of the following rock systems in India is
the main source of coal deposits?
(a) Dharwar system (b) Gondwana system
(c) Cudappah system  (d) Vindhyan system
UPPCS (Pre) G.S. 2008
UP UDA/LDA (Pre) G.S. 2006

Ans. (b) The peninsula, during the Upper
Carboniferous period experienced crustal movements,
which led to the formation of basin-shaped
depressions. These depressions had countless
terrestrial plants and animals, which were buried to form
coal deposits in India known as the Gondwana Rocks.
These are sedimentary rocks and found mainly in the
Damodar, Mahanadi and Godavari Valleys of the
peninsula. Gondwana rocks contain nearly 98 percent of
India’s coal reserves. Gondwana coal is much younger
(younger than Archean, Dharwad, Cudappah and older
than ocean trap , tertiary and quaternary) than the
Carboniferous coal and hence its carbon content is low.

2. Which of the following geological order is
formed from the sedimentary rocks?
(a) Cuddapah (b) Dharwar
(c) Gondwana (d) Vindhyan
UPPCS (Pre) G.S. 2001

‘ Ans. (c): Kindly refer the explanation of above question. ‘

3. Which of the following rock systems in India is the
latest one?

(a) Vindhyan (b) Cuddapah
(c) Dharwar (d) Gondwana
UPPCS (Pre.) G.S. 2016

‘ Ans. (d): Kindly refer the explanation of above question. ‘

4. The oldest rock system found in India is-
(a) Deccan traps (b) Cuddapah system
(c) Vindhyan system  (d) Archaean system
(e) Dravidian system
Chhattisgarh PSC (Pre.) G.S. Ist, 2012

‘ Ans. (d): Kindly refer the explanation of above question. ‘

5. The correct chronological sequence of geological
clusters in India is—
I. Deccan trap
II1. Vindhyan
Codes:
(L IL IIL IV
(o IIL IV, II, 1

II. Cuddapah
IV. Dharwar

(b) IV, I, 111, T
(dIV, 1L I, T
RAS/RTS (Pre) Opt. Geog. 2009-10

Ans. (b) : Kindly refer the explanation of the above
question.

6. Which Rock system in India has most of the
coal reserves?
(a) Dharwar
(¢) Gondwana

(b) Vindhyan
(d) Tertiary
TS PSC Group-I & II Pre 2017

Ans. (¢) : Godwana rocks system contain nearly 98%
of India's coal reserves. Godwana rock system is
named after Gond people, found in Madhya Pradesh,
Odisha.

7. Which one of the following is the appropriate
reason for considering the Gondwana rocks as
most important of rock systems of India?

(a) More than 90% of limestone reserves of India
are found in them

(b) More than 90% of India’s coal reserves are
found in them

(c) More than 90% of fertile black cotton soils are
spread over them

(d) None of the reasons given above is appropriate
in this context

(IAS (Pre) G.S. 2010)

Ans. (b) : Kindly refer the explanation of above
question.

8. Which one of the following statements is not
true?
(a) Vindhyan group is basically made of Sand-
Stone, Lime-Stone and Shell
(b) Neolithic and Neo-rocks are the most ancient
rocks of India
(c)
(d)

The rocks of the Gondwana range are of
riverine or laconic origin
The deccan trap was formed due to volcano
eruption during Oligocene age

(LA.S. (Pre) Opt. Geog. 2006)

Ans. (d) : Kindly refer the explanation of above
question.

9. The Indian subcontinent was originally part of a
huge land mass called
(a) Jurassic Land Mass
(¢) Indiana

(b) Aryavarta
(d) Gondwana Continent
(I.A.S. (Pre) G.S. 1995)
Ans. (d) : The Indian subcontinent was originally part
of a huge land mass is called Gondwana Rock System.
Godwana rocks system contain nearly 98% of India's
coal reserves. Godwana rock system is named after
Gond people, found in Madhya Pradesh, Odisha.

10.

The palacomagnetic results obtained from
India indicate that in the past, the Indian land
mass has moved-
(a) Northward
(c) Eastward

(b) Southward

(d) Westward
LA.S. (Pre) G.S. 1995
UPPCS (Pre) G.S. 1998
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Ans. (a) : The palacomagnetic results obtained from
India indicate that in the past, the Indian land mass has
moved towards North.

11. Which of the following systems of rocks in India
contain major deposits of Iron-ore?
(a) Gondwana System (b) Cuddapah System
(c) Dharwar System (d) Vindhyan System
UPPCS (Main) G.S. I* Paper 2012

Ans. (¢) : The weathering of the Archaean rocks
yielded the earliest sediments and formed the oldest
sedimentary strata, the Dharwar system.These are found
today in metamorphic forms and do not contain
fossils.These rocks occur in scattered patches in parts of
Karnataka, Tamil Nadu, central and eastern parts of
Chotanagpur plateau, Meghalaya plateau, Aravallis,
Himalayan region etc. The Dharwar rocks are
economically the most important rocks because they
possess valuable minerals like high-grade iron ore,
manganese, copper, lead, gold, quartzite, slates, mica, etc.

12. In which rock system is manganese produced in

India?
(a) Gondwana (b) Dharwar
(¢) Vindhyan (d) Tertiary
IAS (Pre) Opt. Geog. 2007

Ans. (b) : Kindly refer the explanation of above
question.

13. Which is the richest mineral rock system of India?
(a) Cuddapah system  (b) Gondwana system
(c) Vindhyan system  (d) Dharwar system
Uttarakhand PCS (Pre) G.S. 2004-05
CGPSC (Pre)G.S.-2010-11
UPPSC (Pre)G.S.-2003

Ans. (d) : Kindly refer the explanation of above
question.

14. Which of the following rock groups is the major
source of metallic minerals in India?
(a) Tertiary group (b) Vindhyan group
(¢) Gondwana group (d) Dharwar group
UP RO/ARO (Pre) 2017
Ans. (d) : Kindly refer the explanation of above
question.

15. The peninsular India got immersed in ice in
which of the following era?
(a) Huronian Ice Age
(b) Carboniferous Ice Age
(c) Pleistocene Ice Age
(d) Little Ice Age

17. Which one of the following is not associated to
the ‘group’?
(a) Gneiss (b) Sandstone
(c) Limestone (d) Shale
Uttarakhand PCS (Pre) G.S. Ist 2014-15

Ans. (a): Sandstone, limestone and shale are
associated with Vindhyan Rock System while Gneiss
is not associated with it. Gneiss is associated with
metamorphic rocks of Archean system.

18. Basaltic Lava rocks over Indian Deccan Plateau
are formed in the following period:
(a) Cretaceous period (b) Pleistocene period
(c) Carboniferous period (d) Miocene period
Uttarakhand PCS (Pre) G.S. Ist 2014-15

Ans. (a) : Volcanic outburst over a vast area of the
Peninsular India from the end of the Cretaceous till
the beginning of the Eocene gave rise to Deccan traps.
Basaltic lava flowed out of fissures covering a vast
area of aboutten lakh sq kms. These volcanic
deposits have flat top and steep sides and therefore
called ‘trap’ meaning a ‘stair’ or ‘step’.

19. The major rocks in the Cuddapah range are—
(a) Granite-Charnokite-Khondalite
(b) Granite-Nease-Shisht
(c) Basalt-Shisht-Lime stone
(d) Quartzite-Lime stone- Sandstone
RAS/RTS (Pre) Opt. Geog. 2009-10

Ans. (d) : Cuddapah rock system- Mainly found in
the Cuddapah region of Andhra Pradesh, are also
found in Delhi, Rajasthan, Chhattisgarh, the lesser
Himalayas etc. They were formed when sedimentary
rocks like quartzite, sandstone, limestone etc., and clay
were deposited in synclinal folds (between two
mountain ranges).

20. In which of the following Indian states there is
oldest rock group?

(a) Assam (b) Bihar
(c) Karnataka (d) Uttar Pradesh
IAS (Pre) Opt. Geog. 2008

Ans. (¢) The archaean rocks are the Oldest

rocks [pre-Cambrian era] formed about 4 billion years
ago. The rocks of the Archaean system are found
mainly in Karnataka, Tamil Nadu, Andhra Pradesh,
Madhya Pradesh, Odisha, Chotanagpur plateau in
Jharkhand and the southern-eastern part of Rajasthan.

Geographical Location

UP UDA/LDA Spl. (M) G.S. 2010 |21. Consider the following statement regarding
Ans. (¢) : The peninsular India got immersed in ice in India: . .
Pleistocene Ice Age . The Pleistocene Epoch is best I. India has an area of 3.28 million sq
known as a time during which extensive ice sheets and km, and accounts for about 2.4 percent of
other glaciers formed repeatedly on the landmasses and the total geographical area of the world.
has been informally referred to as the “Great Ice Age.” II. The mainland of India extends between
16. Vindhyan rocks are rich in- latitudes 8°4' N and 37°6' N and longitude
(a) Limestone (b) Basalt 68°7' E and 67°25' E. )
(c) Lignite (d) Tron ore 1. grese}ntly India has 28 States and 8 Union
UP Lower (Pre) G.S. 2004 Territories. ) _
- Vindhvan Rock oh in limest ‘ Which of the statements given above is/are
‘Ans. (a) : Vindhyan Rocks are rich in limestone . correct.
Indian Geography 10 YCT



(a) I only
(c) Iand III only

(b) Iand II only
(d) I, II and III
APPSC (Pre) 2023

Ans.(c): India has an area of 3.28 million sq km, and
accounts for about 2.4 percent of the total geographical
area of the world. The mainland of India extends
between latitudes 8°4' N and 37°6' N and longitude
68°7' E and 67°25' E. Presently India has 28 States and
8 Union Territories. Thus, statements I and III are
corect.

22. India is mainly called as tropical country due to
which of following reasons -
(a) Latitudinal extent
(b) Longitudinal extent
(c) Regional size
(d) Tropical monsoon climate
MPPSC (Pre) G.S. 2009
Ans. (a): India is mainly called as tropical country due
to its latitudinal extent. The mainland India extends
between latitudes 8°4' and 37° 6' North.
23.  Which of the following statements about India
is incorrect?
(a) India is the 7™ largest country in the world
(b) India is the second populous country of the
world
(c) It’s land boundary extends for around 15,200 km
(d) The earliest sunrise is seen in its Mizoram State
UPPCS RO-ARO (Mains) 2016
Ans. (d) : A small town of Dong in the Anjaw district of]
Arunachal Pradesh first witnesses the sunrise in India.

24. Examine the following statements and select the
correct option :
Statement 'A': Some land area of India is situated
in the northern hemisphere and some in the
southern hemisphere.
Statement 'B': The extension of India from north
to south is approximately more than 7500 km.
(a) Statements 'A’ and 'B' both are correct
(b) Statements 'A' and 'B' both are incorrect
(c) Statement 'A' is correct but statement 'B' is
incorrect
(d) Statement 'A' is incorrect but statement 'B' is
correct
MPPSC 2018

Ans. (b) : Any circle drawn around the earth divides it
into two equal halves called hemispheres. The Equator
or line of 0 degree latitude divides the earth into the
Northern and Southern hemispheres. India lies
entirely in the Northern hemisphere. Hence statement
A incorrect. In India, the main land extends between
latitudes 8°4'N and 37°6'N and longitudes 68°7'E and
97°25'E. The Tropic of Cancer (23° 30'N) divides the
country into almost two equal parts. The further
extention of India is 6°4' north latitude to 37°6' North
latitude.

kilometers. Hence statement B is also incorrect.
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25. Which of the following pair is not correctly
matched?
(a) Total area of India
(b) Latitudinal extent - 8°4’N-37°6’N
(¢) Longitudinal extent -68°T’E-97°25’E
(d) Number of states in India - 26
Jharkhand PSC (Pre) G.S. I 2016
Ans. (d) : The number of states in India is 28 not 26. By
Jammu & Kashmir reorganisation Act, 2019 Jammu and
Kashmir has now been bifurcated into two union
territories one is Jammu and Kashmir and another is
Ladakh. Hence option (d) is incorrect. The total area of]
India is 3.28 million sq. km. The latitudinal extent of]
India is 8°4’N-37°6’N and longitudinal extent is 68°7°E-
97°25'E.
26. India is located -
(a) Between 8°4'south to 37 ° 6' north latitude and 68°
7' west to 97 ° 25'east longitude
(b) Between 8 © 4' north to 37 ° 6'south latitude and 68°
7'east to 97 °25' west longitude
(c) Between 8 ° 4' north to 37° 6' north latitude and 68°
7' east to 97 ° 25'east longitude
(d) Between 8° 4' south to 37° 6' south latitude and 68 °
7' west 97 °25' west longitude
BPSC (Pre) G.S. 2003-04
Himanchal PSC (Pre)-2013
|Ans. (¢): Kindly refer the explanation of above question. |
27. The expansion of India is between-
(a) 37°17'35" North and 8°6'28" South
(b) 37°17'53" North and 8°4'28" South
(c) 37°17'53" North and 8°28' South
(d) None of the above

- 3.28 Million sq. km.

BPSC (Pre) G.S. 1994

‘ Ans. (d): Kindly refer the explanation of above question.
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28. Which of the following statements are true about
India? Use the code given below to select the
correct answer:

1. India is the fifth largest country of the world.

2. It occupies about 2.4 per cent of the total area of
world.

3. Whole of India lies in the torrid zone.

4. 82° 30’ East meridian is used to determine Indian
Standard Time.

Code:
(a) 1 and 2 (b)2 and 3
(c) 1 and 3 (d)2 and 4

UPPCS (Main) G.S. Ist Paper, 2006

Ans. (d) : India is the seventh largest country in the world.
In terms of area following are the seven countries: Russia,
Canada, United States of America, China, Brazil, Australia
and India. Hence statement (1) is incorrect. The total
geographical area of India is 32.87.263 sa.kms. which is
2.42% of the total area of the world. Hence statement (2) is
correct. India lies partially in temperate zone and partially
in torrid zone. Hence statement (3) is also incorrect. 82°
30’ East meridian is used to determine Indian Standard
Time. Hence statement (4) is correct.

C. Tropic of Cancer & Indian
Standard Time
29. Tropic of cancer does not pass through which

of the following state?
(a) Gujarat
(c) Tripura

(b) Rajasthan
(d) Arunachal Pradesh
UK RO-ARO (Pre.) 2021
Ans. (d): The Tropic of Cancer (23° 30'N) divides India
into almost two equal parts. It passes through 8 Indian States
namely Gujarat, Rajasthan, Madhya Pradesh, Chhattisgarh,
Jharkhand, West Bengal, Tripura and Mizoram.
30. Tropic of cancer passes through how many
Indian states?
(a)6 (b) 8 ()7 (d)9
Uttarakhand PCS (Pre) G.S. 2009-10
‘ Ans. (b): Kindly refer the explanation of above question. ‘

31. Tropic of cancer passes through:
(a) Madhya Pradesh (b) Tripura
(c) Mizoram (d) All of the above
UPPCS (Pre.) G.S. I* Paper 2005
MPPSC (Pre.) G.S. I Paper 2014
‘ Ans. (d): Kindly refer the explanation of above question. ‘
32. Which important latitude divides India in almost
two equal parts?
(a) 23°30' South
() 0°

(b) 33°30' North

(d) 23°30'North

MPPSC (Pre) G.S. 2008

‘ Ans. (d): Kindly refer the explanation of above question. ‘

33. Tropic of Cancer does not pass through:
(a) Tripura (b) Mizoram
(c) Manipur (d) Chhattisgarh
Himachal PCS (Pre)-2014

‘ Ans. (¢): Kindly refer the explanation of above question. ‘

34. Tropic of cancer does NOT cross which of the
following state?
(a) Tripura

(c) Manipur

(b) Chhattisgarh
(d) Mizoram
UPPSC RO/ARO (Re-exam) 2016

Ans. (¢) : Kindly refer the explanation of above
question.
35.  Which of the following States in India is not

crossed by the Tropic of Cancer?
(a) Mizoram (b) Odisha
(c) Chhattisgarh (d) Jharkhand
AP PSC Group-2 Screening-2019

: Kindly refer the explanation of above

Ans. (b)
question.

36. Among the following cities, which one is nearest
to the tropic of cancer?

(a) Delhi (b) Kolkata
(c) Jodhpur (d) Nagpur
IAS (Pre) G.S. 2003

Ans. (b) : The Tropic of Cancer is located at 23° 30’
North of equator. The latitudinal position of the above
mentioned cities in context to the Tropic of Cancer is
as follows:

Delhi - 28°61’North
Kolkata - 22°57°North
Jodhpur - 26°23’North
Nagpur - 21°06°North

So out of the given options nearest city to the Tropic of
Cancer is Kolkata.

37. Which one of the following cities is nearest to the
Tropic of Cancer?
(a) Agartala

(c) Jabalpur

(b) Gandhinagar
(d) Ujjain
UPPCS (Pre.) G.S. 1999
Ans. (b) : 23%° North latitude is known as Tropic of
Cancer which divides India into almost two equal
parts. The capital of Gujarat, Gandhinagar (23°13' N)
is nearest to the Tropic of Cancer followed by Jabalpur
(23°11' N), Agartala (23°50' N), and Ujjain (23°09' N).
Gandhinagar = +17'
Agartala = -20'
Jabalpur =+19'
Ujjain = +21'
Therefore it is clear that Gandhinagar is nearest to
Tropic of Cancer.

38. Which of the following city is nearest to the
tropic of Cancer?
(a) Jabalpur
(¢) Ujjain

(b) Ahmedabad
(d) Varanasi
UPPCS (Mains)-2017

Ans. (a) : The Tropic of Cancer (23% North latitude)

passes through the cities of Raisen, Jabalpur & Vidisha
in Madhya Pradesh. Among the given options it is
nearest to Jabalpur 23°11' N. It is noteworthy that the
tropic of cancer passes through 8 Indian states namely:
Gujarat, Rajasthan, Madhya Pradesh, Chhattisgarh,
Jharkhand, West Bengal, Tripura and Mizoram.
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39. Which of the following Indian State lies in north
of Tropic of Cancer?
(a) Jharkhand

(c) Mizoram

(b) Manipur
(d) Tripura
UPPCS (Main) G.S. I'* Paper 2008

Ans. (b) : Manipur [24° 66°N] lies in the north of
tropic of cancer.

40.

The meeting point of 80°East longitude and
tropic of cancer is-

(a) Andhra Pradesh (b) Maharashtra

(c) Uttar Pradesh (d) Madhya Pradesh
UPPSC Food & Sanitary Inspector Exam. 2013
Ans. (d) : The meeting point of 80°East longitude and
tropic of cancer has been located in Madhya Pradesh.
This place is located on the north side of Jabalpur.

41. Which of the following longitudes is known as
‘Standard Meridian’ in India?

(a) 87° 30°E (b) 85° 30°E
(c) 84° 30°E (d) 82° 30°E
UPPCS (Pre) GS, 2013

Ans. (d) : The standard meridian is the longitude for
determining local time. The standard meridian of India
is 82°30' E longitude which passes through Mirzapur in
Uttar Pradesh.

42. Which one of the following place is located
nearest to the Indian Standard Time meridian?

(a) Bilaspur (b) Faizabad (c) Koraput (d) Mirzapur

UP UDA/LDA (M) G.S. 2010

‘ Ans. (d): Kindly refer the explanation of above question.

43. When it is noon at IST meridian what would be
local time at 120° East longitude?
(a) 09.30 (b) 14.30 (¢) 17.30 (d) 20.00
UPPCS (Pre.) G.S. 2001)

Ans. (b) : The Longitudinal Difference between the
Indian Standard Time and 120° E longitude is 37°30'
(120-82.30 = 37.5°). Also the difference of 1°
longitude is = 4 minutes. So, the difference is = 37°30'
x4 =150 min. (Almost 2 hours 30 minutes ).Thus if it
is noon at IST meridian ,then the local time at 120 ° E
longitude will be 12+2:30=2:30 pm. (14:30 Pm)

44. The Indian Standard Time meridian does not

pass through-
(a) Andhra Pradesh (b) Chhattisgarh
(c) Maharashtra (d) Uttar Pradesh

UPPCS (Main) G.S. I* Paper 2010

Ans. (¢) :The Indian Standard Time meridian which
0

passes through Mirzapur is located at 82% East

longitude. It passes through five Indian states i.e. Uttar
Pradesh, Madhya Pradesh, Chhattisgarh, Odisha and
Andhra Pradesh.

45. The longitude line (82° 30’) of Indian Standard
Time passes through which city?
(a) Nagpur (b) Delhi
(c) Patna (d) Allahabad
Haryana PCS (Pre)-2014
MPPSC (Pre) G.S. 1996
UPPSC (Pre) G.S. 1993

Ans. (d) : The standard meridian is the longitude for
determining local time for whole India. The standard
meridian of India is 82°30'E which passes through

Mirzapur in Uttar Pradesh. This time is 5% hours

ahead of Greenwich mean time. Earlier it used to pass
through Naini (Allahabad), but movement of Indian
plate towards North-east has made it distant from
magnetic poles and hence position has changed.

46. The difference between Indian Standard Time
and Greenwich Meridian Time is of-

(a) +4% hours (b) +5% hours

(c) —5% hours (d) —4% hours

BPSC (Pre.) G.S. 2002

Ans. (b) : Kindly refer the explanation of above
question.

47.

The local time of Patna is-
(a) Ahead than Indian Standard Time
(b) Same as Indian Standard Time
(c) Behind than Indian Standard Time
(d) Not related to Indian Standard Time
BPSC (Pre) G.S. 1996

Ans. (b) : Kindly refer the explanation of above
question.

48.

If the Sun rises at Tirap in Arunachal Pradesh

at 5.00 am (IST), then what time (IST) the Sun

will rise in Kandla in Gujarat?

(a) About 5:30 a.m.  (b) About 6:00 a.m.

(c) About 7:00 a.m. (d) About 7:30 a.m.
UPPCS (Pre) GS, 2010

Ans. (¢) : Longitutinal position of Kandla (Gujarat) is
b/w 68°4' E, 74°11' E & Tirap (Arunachal Pradesh) is
located between 91°30' E and 97°30' E. Which makes
difference of approx 30° and we know 15° = 1 hrs so
30°1is = 2 hours between both the place. Thus if sun
rises at Tirup at 5:00 am then Sun will rise at 7:00 am
in Kandla.

49. What will be the difference of time in hours
between the most western village of Guijarat and
Walong located at the most eastern end of
Arunachal Pradesh?
(a) 1 hour
(¢) 3 hour

(b) 2 hour
(d) % hour
UPPCS (Pre.) G.S. 1992

Ans. (b) : Kindly refer the explanation of above
question.

50. The far west point of India is in-

(a) 68° 7"West, Gujarat

(b) 68° 7’West, Rajasthan

(c) 68° 7’East, Gujarat

(d) 68° 7’East, Rajasthan

MPPSC (Pre) G.S. 2008

Ans. (¢) :The far west point of India is 68° 7’East,
Gujarat while the far east point of India is 97° 25’ East
longitude, Arunachal Pradesh.
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51. Which one of the following pairs of States of India

indicates the easternmost and westernmost State?

(a) Assam and Rajasthan

(b) Arunachal Pradesh and Rajasthan

(c) Assam and Gujarat

(d) Arunachal Pradesh and Gujarat

IAS (Pre) I Paper G.S., 2015

Ans. (d) : Kindly refer the explanation of above
question.

52. In which of the following states of India the sun
appears first?
(a) Mizoram (b) Assam
(c) Arunachal Pradesh (d) Nagaland
UPPSC Asst. Forest Conservator Exam. 2015
Ans. (c¢) : Arunanchal Pradesh is eastern most state of
India thus sun appears first here.

53. Along which one of the following meridians
did India experience the first light of the sunrise
of the new millennium?
(a) 2°30°West
(c) 92°30°West

(b) 82°30’East
(d) 92°30’ East
UPPCS (Pre) G.S. 2004
Ans. (d) : India lies in north-east hemisphere of earth in
between 8°4’ to 37°6’ North latitude and 68°7’ to 97°
25’ East longitudes. India experiences the first light of|
the sunrise of the new millennium in Katchal, Great

Andaman located at 92°30°East longitude.

54. The local time of any place is 6.00 a.m. while the
Greenwich Mean Time (GMT) is 3.00 a.m. What
will be the longitude line of that place?

(a) 45° West (b) 45° East
(c) 120° East (d) 120° West
Uttarakhand PCS (Pre) G.S. 2009-10

Ans. (b) : If we move 15° from the Greenwich i.e. 0°

longitude towards east , then there will be time

difference of +1 hour. Now, according to question the

time difference is +3. Therefore longitudinal difference
would be 3x15 =45° East.

The States & Union Territories ||
55.

Which of the following Southern States shares
boundaries with maximum number of Indian
States?

(a) Telangana

(¢c) Andhra Pradesh

(b) Karnataka
(d) Tamil Nadu
APPSC (Pre) 2023

Ans.(b): Karnataka in southern India shares
boundaries with 6 states — Maharashtra, Telangana,
Andhra Pradesh, Tamil Nadu, Kerala and Goa.

o Telangana shares boundary with 4 states.
o Andhra Pradesh shares boundary with 5 states.
e Tamil Nadu shares boundary with 3 states.

56. The number of coastal states in India is:
(a) 06 (b) 07
(c) 08 (d 09
UP RO/ARO (Pre) 2017

Ans. (d) : There are 9 coastal states in India namely:
Gujarat, Maharashtra, Goa, Karnataka, Kerala, Tamil
Nadu, Andhra Pradesh, Odisha and West Bengal. The
coastal area of Guijarat is largest in the country. The
length of coastal line of India is 7516.6 kms (including
Andaman & Nicobar and Lakshadweep Islands).

57.  Which of the following statements is correct in
context of Sikkim?
Choose the correct answer from the code given
below:
I. In 1975 it became an integral part of India.
IL. It is considered as heaven of natural vegetation.
II1. Lepcha tribe is main residents here.

Code :
(@l (b) I and IT
(c) Il and IIT (d) I, IT and IIT

UPLower (Pre) G.S. Spl. 2004
Ans. (d) : Sikkim was made an integral part of India in
1975 by the 35™ Constitutional Amendment Act and was
made an associate state. By the 36" Constitutional
Amendment Act it became a complete state of India. It
is considered as the heaven of natural vegetation and
Lepcha tribe is the main resident here.

58. How many districts are in India?
(a) 600 (b) 650
(c) 580 (d) 800

(e) None of the above
Chhattisgarh PSC (Pre) G.S. I*' 2014
Ans. (e) : As per the Census 2011 there were total 640
districts in India. As of April 2022, there are total 776
districts.
59.  Which one of the following districts of India is
the largest in terms of geographical area?
(a) Leh (b) Kutch
(c) Jaisalmer (d) Barmer
(e) None of the above/More than one of the above
66" BPSC (Pre) 2020
Ans. (b): Kutch (Gujarat) with the geographical area of
(45,652) Km® is the largest district in India, whereas
Mahe (Pondicherry) is the smallest district in India (9
Km?).
60.

Which is the smallest state in India (by area)?
(a) Sikkim (b) Tripura
(c) Telangana (d) Goa

NAGALAND NCS PRELIMS, 2018
Ans. (d): Goa is the smallest state of India in terms of]
area with 3702 sq. km area while Sikkim is smallest
state of India according to population.
61. Which of the following States of India border
with the maximum number of districts in Bihar?
(a) Uttar Pradesh
(b) Jharkhand
(c) West Bengal
(d) More than one of the above
(e) None of the above

68th BPSC 2022

Ans. (d): Both Uttar pradesh and Jharkhand state have
common border with 8 districts of Bihar. Hence, the

correct answer is option (d).
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62. The total geographical area of Bihar State is
(a) 94316 sq. km.
(b) 94163 sq. km.
(c) 94526 sq. km.
(d) 94200 sq. km.
(e) None of the above/More than one of the above
67th BPSC (Re-exam) 2021
Ans. (b): Bihar, as a state in the eastern part of the
country is the 13th largest in terms of geographical area
and 3rd largest by population. The state has a
geographical area of 94163 sq km which constitutes
2.86% of the total geographical area of the country.
63.  Which one of the following Union Territories of
India is the smallest in terms of area?
(a) Dadra and Nagar Haveli (b) Chandigarh
(c) Lakshadweep (d) Daman and Diu
UPPSC ACF-RFO Main I Paper 2019
Ans. (¢) : There is a total of 8 union territories (UT's) in
India as of now. Their respective area in descending
order as per official sources of government of India is
given below.
Union territory

Area (in Sq. Kms.)

Ladakh 96,751

Jammu & Kashmir 1,20,355

Andaman & Nicobar Island 8249

Delhi 1483

Dadra & Nagar Haveli and

Daman & Diu 603

Puducherry 490

Chandigarh 114

Lakshadweep 32

Note- According to Ministry of Home Affairs,

Government of India, Area figures of Ladakh and
Jammu & Kashmir includes 78114 sq. km under
unlawful occupation of Pakistan, 5180 sq. km illegally
handed over by Pakistan to China and 37555 sq. km
under illegal occupation of China.
64. Which among the following Union Territories of
India is largest in area?
(a) Chandigarh
(b) Lakshadweep
(c) Andaman and Nicobar
(d) Daman and Diu

UPPSC Asst. Forest Conservator Exam. 2013

|Ans. (¢) Kindly refer the explanation of above question. |
65. The largest Union Territory of India is

(a) Daman and Diu (b) Puducherry
(c) Delhi (d) Chandigarh
UPPCS (Pre) GS, 2014

|Ans. (¢) Kindly refer the explanation of above question.
66. Out of the five southern States: Andhra
Pradesh, Karnataka, Kerala, Tamil Nadu and
Telangana, which state shares boundaries with
the maximum number of India States?
(a) Telangana only
(b) Karnataka only
(c) Andhra Pradesh and Telangana
(d) Tamil Nadu and Kerala

Gujarat PSC 2018

Ans. (b): Out of the given options Karnataka shares
maximum number of states boundaries with it. It shares
boundary with 6 states (Andhra Pradesh, Telangana,
Goa, Maharashtra and Tamil Nadu) its boundary.
Whereas, Andhra Pradesh shares its boundary with 5
states, Tamil Nadu with 3 states and Kerala with 2
states. Uttar Pradesh touches the border of Maximum
states in India, It shares boundaries with eight states and
one UT.
67. Out of the four southern States Andhra
Pradesh, Karnataka, Kerala and Tamil Nadu,
which shares boundaries with the maximum
number of Indian States ?
(a) Andhra Pradesh Only
(b) Karnataka Only
(c) Each of Andhra Pradesh and Karnataka
(d) Each of Tamil Nadu and Kerala

L.A.S. (Pre) G.S. 2007

: Kindly refer the explanation of above

Ans. (b)
question.

68. Match list-I (State) with list-II (Capitals) and
choose the correct answer using code given

below-
List-1 List-11
A. Assam 1. Shillong
B. Nagaland 2. Kohima
C. Arunachal Pradesh 3. Dispur
D. Meghalaya 4. Itanagar
Code :
A B C D AB C D
(@2 3 1 4 ®d) 32 4 1
)4 1 3 2 d 1 4 2 3

UPPCS (Pre) G.S. 1994

Ans. (b) : The correct match is as follows :-
State Capital
Assam - Dispur

Nagaland - Kohima
Arunachal Pradesh - Itanagar
Meghalaya - Shillong

69. Which was the Capital of Andhra Pradesh when
it was made a separate State in the year 1953?
(a) Guntur (b) Kurnool
(c) Nellore (d) Warangal
(I1.A.S. (Pre) G.S. 2008)

Ans. (b) : The J.V.P (Jawaharlal Nehru, Vallabhbhai
Patel and Pattabhi Sitaramaiyva) Committee on state
Reorganization denied the formation of new states on
linguistic basis. In response to this, the Telugu speaking
people of Madras State started the agitation under the
leadership of Potti Shri Ramulu. He died after fast unto
death of 56 days which directly enhanced the agitation.
As a result Jawaharlal Nehru made a declaration for the
formation of a new separate state for Telugu speaking
people. so Andhra Pradesh emerged as a new state,
founded (on linguistic basis) on October 1, 1953 and
Kurnool was made its capital. At present the capital of]
Andhra Pradesh is Hyderabad. Due to the formation of]
Telangana (in 2014) state from Andhra Pradesh,
Hyderabad will be the capital of Andhra Pradesh only
for ten years. After that Amravati will be the capital of]
Andhra Pradesh.
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70. Which of the following states was founded in the
year 1948?

(a) West Bengal (b) Assam
(c) Punjab (d) Himachal Pradesh
UP RO/ARO (M) G.S. 2013
Ans. (¥) : The states with their year of formation as
follows :-
States of India Year of Foundation
West Bengal - in 1956 under State
Reorganisation Act
Assam - in 1956 under State
Reorganisation Act
Punjab - November 1, 1966
Himachal Pradesh- January 25, 1971

71. Which of the following States share border with
Uttar Pradesh?
1. Punjab 2. Rajasthan
3. Chattisgarh 4. Jharkhand
Select the correct answer using the code given below.

(a)1,2,3and 4 (b)2,3 and 4
(c) 1 and 4 (d)1and3
IAS (Pre) G.S. 2005

Ans. (b) : State of Uttar Pradesh is spread over in 2,40,928
sa. km. area, touching the Himalayan foothills to the north
and the Vindhya ranges to the south, surrounded by the
states of Uttarakhand and Himachal Pradesh in the north,
Haryana, Delhi and Rajasthan in the west, Bihar and
Jharkhand in the east and Madhya Pradesh and Chhattisgarh
in the south. It also makes International border with Nepal.
Uttar Pradesh among Indian States, touches the boundary of]
maximum no. of states (i.e. state and UTs).

72. Which State of India touches maximum State

boundaries?
(a) Madhya Pradesh (b) Karnataka
(c) Andhra Pradesh (d) Uttar Pradesh
MP PSC (Pre) 2018

|Ans.(d): Kindly refer the explanation of the above question. |
73. The border of Chhattisgarh does not connects-

(a) Maharashtra (b) Bihar
(c) Odisha (d) Andhra Pradesh
UP RO/ARO (M.) G.S. 2013

Ans. (b) : At the time of the question asked the state of]
Chhattisgcarh had a common boundary with Madhya
Pradesh, Maharashtra, Odisha, Andhra Pradesh. Uttar
Pradesh and Jharkhand. But after the formation of]
Telangana the border of Chattisgarh also touches it. It
doesn’t have common boundary with Bihar.
74. Which one among the following major Indian
cities is most eastwardly located?
(a) Hyderabad (b) Bhopal
(c) Lucknow (d) Bengaluru (Bangalore)
(I.A.S. (Pre) G.S. 2007)
Ans. (¢) : The capital of State of Uttar Pradesh
Lucknow is located most eastward.[80°94” E]
Hyderabad = 78°29' E
Bhopal = 77°24' E
Bengaluru = 77°50' E
Lucknow = 80°94' E
Thus it is clear that Lucknow is the most eastwardly
situated.

75. Delhi is-
(a) a state (b) a union territory
(c) an autonomous council (d) None of the above
BPSC (Pre) G.S. 1997-98

Ans. (b) : Delhi with its capital New Delhi is a union
territory of India. It was made a Union Territory in
1956. Lying in the northern part of the country, Delhi is
surrounded by Haryana on all sides except the east,
where it borders with Uttar Pradesh. The 69™
Constitutional amendment is a milestone in Delhi's
history, as it got a Legislative Assembly with the
enactment of the National Capital Territory Act, 1991.

76. The National Capital Region does not include
parts of-

(a) Haryana (b) Punjab
(c) Rajasthan (d) Uttar Pradesh
UPPCS (Main) G.S. I* Paper 2008
Ans. (b) : National Capital Region (NCR) is a unique
example of inter-state regional planning and
development for a region with NCT-Delhi as its core.
The NCR as notified, covers the whole of NCT-Delhi
and certain districts of Haryana, Uttar Pradesh and
Rajasthan, covering an area of about 55,083 sq. kms.
The sub-region wise area details are as under:
Sub-Region |(Name of the Districts Area
(in sq
kms)
Haryana Faridabad, Gurgaon, Mewat, 25,327
Rohtak, Sonipat, Rewari,
Jhajjar, Panipat, Palwal,
Bhiwani (including Charkhi
Dadri), Mahendragarh, Jind and
Karnal (thirteen districts).
Uttar Pradesh [Meerut, Ghaziabad, Gautam 14,826
Buddha Nagar, Bulandshahar,
Baghpat, Hapur,Shamli and
Muzaffarnagar (Eight districts)
Rajasthan Alwar and Bharatpur (two 13,447
districts)
Delhi Whole of NCT Delhi. 1,483
77. Sarnath is in the State of-
(a) Kerala (b) Maharashtra
(c) Gujarat (d) Uttar Pradesh

UPPCS (Main) G.S. Ist Paper 2004
Ans. (d) : Located at a distance of 10 KM from Varanasi,
Uttar Pradesh, Sarnath is one of the most significant
Buddhist pilgrimage centers. This is the place where Lord
Buddha delivered his first sermon, after attaining
enlightenment at Bodh Gaya. His first sermon is sanctified
as ‘Dharma Chakra Pravartan’, meaning 'set in motion the
Wheel of Dharma'.
78. The city of Ranchi is in-
(a) Bihar (b) Madhya Pradesh
(c) Odisha (d) Jharkhand
BPSC (Pre) G.S. 2007-08
Ans. (d) : Located in the State of Jharkhand, Ranchi is the
capital of Jharkhand
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79. Which among the following is the capital of

Jharkhand?

(a) Jamshedpur (b) Patna

(c) Ranchi (d) Dhanbad

Uttarakhand UDA/LDA (Pre) G.S. 2006

|Ans. (¢) : Kindly refer the explanation of above question. |
80. Consider the following :

1. Area wise, Chhattisgarh is larger than West Bengal.

2. According to the Population 2001 Census,
Population of West Bengal is greater than that of

Chhattisgarh.
Which of the statements is/are correct?
(a) 1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2
IAS (Pre) G.S. 2005

Ans. (¢) : The area of Chhattisgarh is 1,35,194 sq. kms.
While the area of West Bengal is 88,752 sq. kms. Thus in
context to area Chhattisgarh is larger than West Bengal.
As per 2001 census population of West Bengal is greater
than the population of Chhattisgarh.

81. Which one among the following States is smallest

in area?
(a) Andhra Pradesh (b) Gujarat
(c) Karnataka (d) Tamil Nadu
IAS (Pre) G.S. 2003

Ans. (d) : Descending order of some states on the basis of]
area is as follows- Rajasthan, Madhya Pradesh,
Mabharashtra, Uttar Pradesh and Andhra Pradesh.
Ascending order of some states on the basis of area- Goa,
Sikkim, Tripura and Nagaland.

The correct descending order of the above mentioned
states on the basis of area is as follows-

Andhra Pradesh (before bifurcation -2,75,045 sq. kms.
Andhra Pradesh (after bifurcation  -1,60,205 sq. kms.
into Andhra Pradesh and Telangana)

Gujarat -1,96,025 sq. kms.
Karnataka -1,91,791 sq. kms.
Tamil Nadu -1,30,058 sq. kms.

82. Arrange the following Indian states in descending
order of their regional size-
1. Andhra Pradesh 2. Madhya Pradesh
3. Rajasthan 4. Uttar Pradesh
Choose the correct answer from the code given

below:
(@)3,1,4,2 (0)3,2,1,4
(©4,2,1,3 (d1,3,2,4

UPPCS (Main) G.S. 2003)

Ans. (b) : Kindly refer the explanation of above

question.

* Now correct descending order of given Indian states
and their regional size as - Rajasthan, Madhya
Pradesh, Uttar Pradesh, Andhra Pradesh.

83. Cherrapunji is located in-

(a) Assam (b) Manipur
(c) Meghalaya (d) Mizoram
BPSC (Pre) G.S. 1996

Ans. (¢) : Cherrapunii is a sub-divisional town in the

East Khasi Hills district in the Indian state of]

Meghalaya. It was considered as being the wettest place

on Earth. However, now Mawsynram currently holds
that record. However, it still holds the world record for
the most rainfall in a calendar month and in a year.
84. Arrange the following Indian States
descending order of their geographical areas:
(I) Rajasthan
(IT) Tamil Nadu
(IIT) Maharashtra
(IV) Karnataka
(a) LI, 111, TV
(o)L 1L, IV, I

in

(b) IIL I, IV, II

(d) IL IV, L 11
MPPSC (Pre) G.S. I' Paper, 2016
Ans. (¢) : The descending order of Indian States in order of]
their geographical areas is as follows-

State Area (in Sq. Kms.)
Rajasthan - 3,42,239
Mabharashtra - 3,07,713
Karnataka - 1,91,791
Tamil Nadu - 1,30,058

NOTE: The total geographical area of India is
32,87,263 sq. kms. which is 2.4% of total geographical
area of the world. In terms of area, India is seventh
largest country in the world.
85. How much percentage of the total land mass area
of India is in Rajasthan?
(a) 10.4%
(c) 13.3%

(b) 7.9%
(d) 11.4%
RAS/RTS (Pre) G.S., 2016
Ans. (a) : With the total geographical area of 3,42,239 sq.
kms., Rajasthan is the largest state of India which is
10.41% of the total area of India.
86. Which of the following statement is correct?
(a) The border of Madhya Pradesh touches seven
states
(b) Bhopal is located in the north of tropic of cancer
(c) The border of State of Punjab does not touch
(d)

Jammu-Kashmir anywhere
There is no National park in Arunachal Pradesh
UPPCS (Pre.) G.S. 1993

Ans. (a) : When the question was asked the border of]
Madhya Pradesh shared border with seven states but after
the separation of Chhattisgarh the State of Madhya
Pradesh touches only five states namely Uttar Pradesh,
Rajasthan, Gujarat, Maharashtra and Chhattisgarh. Bhopal
is located at (23°25' N) the south of tropic of cancer ((23°

%N)). Punjab shares its boundary with Jammu &

Kashmir. Namdapha National Park is located in Arunachal
Pradesh.

87. Which of the following pairs is not correctly

matched?

(a) Badarpur - Delhi

(b) Harduaganj - Uttar Pradesh

(c) Uttaran - Gujarat

(d) Paras - Andhra Pradesh
UPPCS (Main) G.S.,I- Paper, 2006
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Ans. (d) : Badarpur is located in Delhi, Harduaganij is
located near Aligarh, Uttar Pradesh, Uttaran is located in
the State of Guiarat while Paras is located in Akola district
of Maharashtra. Hence option (d) is not correctly matched.
NOTE- All are Thermal Power Stations.

Paras Thermal Power Plant is the oldest power plant in the
World.

88. Assam is surrounded by how many states and
Union Territories?

(a) 6

(c) 8

() 7
(d) 9
BPSC (Pre.) G.S. 2002
Ans. (b) : The state of Assam is surrounded by seven states
ie.. West Bengal, Meghalaya, Tripura, Mizoram, Manipur,
Nagaland and Arunachal Pradesh. It also makes boundary
with two foreign countries Bhutan and Bangladesh.

- Borderline Countries ||

Which of the following states does not share its
border with Bhutan?

1. Sikkim

2. West Bengal

3.Assam

4.Meghalaya

Select the correct answer from the code given

below:

(a) 1only (b) 2 only

(c) 4 only (d) Both3 & 4

UPPSC (J) 2023

Ans.(c): Meghalaya does not share it's border with

Bhutan. Sikkim, Arunanchal Pradesh, Assam and West
Bengal are 4 states which share border with Bhutan.

90. India shares its land boundaries with
countries?
(a) Seven (b) Eight
(c) Six (d) Nine
MPPSC 2016
Ans. (a) India sharesits borders with seven

countries. These are Pakistan and Afghanistan in the
northwest, China (Tibet), Nepal in the North and
Bhutan in the northeast and Bangladesh and Myanmar
in the east. India’s southern neighbours across the sea
consist of the two island countries namely Sri Lanka
and Maldives.

E o e Tr 6 s 8¢

96° 100°E
FABKISTAN
=,
oy INDIA
LS ADJACENT COUNTRIES 36N

o
~adE
ol il

\.rc‘?: -

zzzz

BAY OF

ARABIAN
SEA BENGAL

Al OO ey

& { pmadest
N—r— .
e Bounciony X
wswoneer | c
N ¥ mo
8 & '

(4]
i MALDWES »

91. Radcliffe line defines boundary between-
(a) North Korea and South Korea
(b) U.S.A. and Canada
(c) India and Pakistan
(d) India and China
UPPCS (Pre) GS, 2014
MPPCS (Pre) G.S. 2005-06

The boundaries between countries are as

Ans. (¢) :

follows:-

India-Pakistan - Radcliffe line [It was named after its
architect Sir Cyril Radcliffe who was
the joint chairman of the two
Boundary Commissions, the
demarcation line was published on
17" august 1947]

North Korea-South Korea - 38°latitude
USA-Canada - 49°]atitude
India-China - McMabhon line

India-Afghanistan - Durand line

92. The boundary between India and Pakistan was
decided by-
(a) Durand line
(c) Maginot line

(b) McMabhon line
(d) Radcliffe line
UPPCS (Pre) G.S. 1996

ns. (d) : Kindly refer the explanation of above
question
93. The Durand line determines the boundary of
India with-
(a) Afghanistan (b) Burma
(c) Nepal (d) Tibet
UP UDA/LDA (Pre) G.S. 2006
Ans. (a) : Kindly refer the explanation of above

question
94. What is McMahon line?
(a) India-China border
(b) India-Nepal border
(c) India-Pakistan border
(d) India-Bangladesh border
MPPSC (Pre) G.S. 1999
MPPSC Pre 2022

ns. (a) : Kindly refer the explanation of above
question.
95. What is the boundary line between India and

China called?

(a) Radcliffe Line

(b) Indira Point

(c) Durand Line

(d) McMahon Line

(e) None of the above/More than one of the above

67th BPSC (Re-exam) 2021

‘Ans. (d): Kindly refer the explanation of above question ‘
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96. Which State of India have common border
with Myanmar?
(a) Arunachal
Mizoram
(b) Arunachal
Mizoram
(c) Manipur, Mizoram, Nagaland, Tripura
(d) More than one of the above
(e) None of the above

Pradesh, Nagaland, Manipur,

Pradesh, Assam, Manipur,

68th BPSC 2022
Ans. (a): Four Indian states, Arunachal Pradesh,
Nagaland, Manipur and Mizoram share border with
Myanmar. Thus, option (a) is correct.

100. With which of these countries does India share
the maximum length of International border?

(a) China (b) Bangladesh

(c) Pakistan (d) Nepal
Nagaland PCS Pre 2017
Ans. (b) : Kindly refer the explanation of above
question
101. India opened Zokhawthar immigration check-
post recently along the border.
(a) Bangladesh (b) China
(c) Bhutan (d) Myanmar
Gujarat PSC 2018

97.  Which of the following states in India, do not
share border with Bhutan?
(a) Sikkim (b) Bihar
(c) Arunachal Pradesh (d) Assam
JPSC (Pre) 2021 Paper -1

Ans. (d): India has opened Zokhawthar land immigration
check-post in Mizoram along the border with Myanmar. It
has been designated as an authorized immigration center,
for entry into and exit from India with valid travel

documents for all passengers from Myanmar.

Ans. (b): Bihar does not share a border with Bhutan.
Bhutan is a landlocked nation located in the Himalayas
that shares borders with China (Tibet) to the north and
India to the west, south and east. The Indian states of]
Assam, Arunachal Pradesh, West Bengal and Sikkim
share the border with Bhutan. In the decreasing order of|
the length of the border with this country the states are-
Assam (267 km), Arunachal Pradesh (217 km), West
Bengal (183 km) and Sikkim (32 km) are respectively.
The state of Bihar shares a border with Nepal.
98.  Which of the following state of India does not
have common boundary with Bangladesh?
(a) Assam (b) Tripura
(c) Manipur (d) Meghalaya
UK RO-ARO (Pre.) 2021
Ans. (c): India shares 4,096.7 Km of its largest land
border with Bangladesh. West Bengal, Assam,
Meghalaya, Tripura and Mizoram are the states, which
share the border with Bangladesh.
99. Extension of the International boundaries of
India along with their neighbouring countries
in ascending order are
(a) China, Bangladesh, Pakistan, Nepal
(b) Nepal, Pakistan, China, Bangladesh
(c) Nepal, Pakistan, Bangladesh, China
(d) Pakistan, Nepal, China, Bangladesh
MPPCS (PRE) - 2019

Ans. (b) : A total of 9 countries share borders with
India. Out of these 7 countries share land borders and 2
countries share maritime borders with India.

Following countries share land border in descending
order of their boundary lines—

1. Bangladesh -4096.7 km

2. China - 3488 km
3. Pakistan - 3323 km
4. Nepal - 1850 km
5. Myanmar - 1643 km
6. Bhutan - 699 km
7. Afghanistan - 106 km

102.The border of which Indian state touches
Myanmar maximum?
(a) Manipur
(c) Mizoram

(b) Arunachal Pradesh
(d) Nagaland
Rajasthan (RAS/RTS) (Pre), 2006-07

Ans. (b) : India shares a 1643 km long border with
Myanmar in four north-eastern states namely, Arunachal
(520 km), Nagaland (215 km), Manipur (398 km) and
Mizoram (510 km) with Myanmar's Sagaing Region and
Chin State.

103.The McMahon Line is a line agreed to by Britain
and Tibet as part of the Shimla Accord, a treaty

signed in
(a) 1912 (b) 1914
(c) 1947 (d) 1962
(Haryana PSC Pre 2014)

Ans. (b) : The McMahon line is a demarcation line
between Tibet and North East region of India proposed
by Brithish administrator Sir Henry McMahon, at the
1914 Shimla convention. It was signed between British
& Tibetan representatives. It is currently the generally

recognized boundary between China & India.

104.Consider the following statements:
1.Assam shares a border with Bhutan and
Bangladesh
2. West Bengal shares a border with Bhutan and Nepal
3.Mizoram shares a border with Bangladesh and
Myanmar
Which of the statements given above are correct?
(a)1,2and 3 (b) 1 and 2 only
(c) 2 and 3 only (d) 1 and 3 only
IAS (Pre) G.S. 2006

Ans. (a) : The Indian states that share a land border with
Nepal are Uttarakhand, Uttar Pradesh, Bihar, West Bengal,
and Sikkim. India shares a 4,096.7 km long border with
Bangladesh which touches Assam, Tripura, Surrounded
Mizoram, Meghalaya and West Bengal. Four Northeast
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Indian states share the border with Myanmar: Arunachal
Pradesh, Nagaland, Mizoram and Manipur. The Indian
states which share borders with Bhutan include Arunachal
Pradesh, Assam, West Bengal and Sikkim. The Indian states
that share a land border with China - Laddakh, Himachal
Pradesh, Uttarakhand, Sikkim and Arunachal Pradesh. Indian
states that share a land border with Pakistan are Jammu &
Kashmir, Punjab, Rajasthan and Gujarat and Laddakh.
105.Which of the following States of India does not
have common border with Myanmar?

(a) Assam

(b) Nagaland

(c) Arunachal Pradesh

(d) Mizoram

UPPCS (Main) G.S. I* Paper 2012
|Ans. (a): Kindly refer the explanation of above question. |

106.Which one of the following States does
not form border with Bangladesh?
(a) Meghalaya (b) Tripura
(c) Manipur (d) Mizoram
UPPCS (Pre.) G.S. 2002
UP Lower (Pre) G.S. 2002
UPPCS (Main) Spl. G.S. 2004
Ans. (¢) : Kindly refer the explanation of above

question.

107. Which among the following states does not form
its border with Bangladesh?

(a) Assam (b) Nagaland

(c) Meghalaya (d) Mizoram
UPPCS (Main) G.S. 2016
Ans. (b) : Kindly refer the explanation of above

question.
108.The Indian states bordering with Bangladesh are:
(a) West Bengal, Nagaland, Assam, Meghalaya
(b) Nagaland, Assam, Sikkim, West Bengal
(¢) Meghalaya, Assam, West Bengal, Tripura
(d) Nagaland, Assam, West Bengal, Manipur
Chhattisgarh PSC (Pre) G.S., 2003
: Kindly refer the explanation of above

Ans. (¢)
question.
109.Which among the following groups of states form
border with Pakistan?
(a) Jammu and Kashmir, Himachal Pradesh, Punjab
and Rajasthan
(b) Punjab, Jammu and Kashmir, Rajasthan and Gujarat
(c) Punjab, Haryana, Jammu and Kashmir and Rajasthan
(d) Punjab, Himachal Pradesh, Rajasthan and Gujarat
UPPCS (Pre.) G.S. 2003

Kindly refer the explanation of above

Ans. (b) :
question.

110.Which one of following state does not share
border with Bhutan?

(a) Sikkim (b) Meghalaya
(c) Arunachal Pradesh (d) West Bengal
MPPSC (Pre) G.S. I' Paper 2012
Ans. (b) : Kindly refer the explanation of above
question.

111. Which one of the following countries share the
longest land frontier with India?
(a) China (b) Nepal
(c) Pakistan (d) Bangladesh
MPPSC (Pre) G.S. I' Paper, 2016
Ans. (d) : Kindly refer the explanation of above
question.
112.Which state of India has borders with three
countries namely Nepal, Bhutan and China?
(a) Arunachal Pradesh (b) Meghalaya
(c) West Bengal (d) Sikkim

MPPSC (Pre.) G.S. I*, 2008, 2015

Ans. (d) : Kindly refer the explanation of above
question.
113. The pair of neighbouring Indian states of

Nepal is:
(a) Sikkim, Bhutan
(b) Sikkim, Bihar
(c) Assam, Bihar
(d) Uttar Pradesh, Haryana
RAS/RTS (Pre) G.S. 1999

Ans. (b) : Kindly refer the explanation of above
question.

114. Which among the following states of India is
surrounded by international boundary in three

sides?

(a) Assam (b) Nagaland

(c) Tripura (d) West Bengal

UPPCS (Main) Spl. G.S. I* Paper 2008

Ans. (¢) : Kindly refer the explanation of above
question.
115. Which Indian state 1is surrounded by

Bangladesh on three sides?

(a) Assam (b) Tripura

(c) West Bengal (d) Arunachal Pradesh
NAGALAND NCS PRELIMS, 2018

Ans. (b): Kindly refer the explanation of above
question.
116. The much discussed Line of Actual Control

(LAC) is a disputed borderline between____.

(a) India and China

(b) China and Pakistan

(c) India and Pakistan

(d) China and Nepal

ASSAM PSC 2021

Ans. (a): The Line of Actual Control (LAC) is a
demarcation line that separates Indian-Controlled
territory from Chinese-Controlled territory at the Sino
Indian border. It subsequently referred to the line
formed after the 1962 Sino-Indian War and is a part of]
the Sino-Indian border dispute.
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Other Facts ||

117. Which district of Uttarakhand is not situated
along the Tibbet boundary?
(a) Uttarkashi (b) Chamoli
(c) Almora (d) None of the abvoe
69th BPSC (Pre) 2023

Ans.(c): Almora district of Uttarakhand is not situated
along the Tibbet boundary. Almora is a district in the
Kumaon division of Uttarakand. The headquarter is at
Almora. It is 1638 m above sea level. The town of
Almora situated over a horse saddle-shaped ridge of
mountain.

118.Which one among the following cities never get
the vertical rays of the Sun all through the year?

(a) Chennai (b) Mumbai
(c) Kolkata (d) Srinagar
UPPCS (Pre) G.S. 2003

Ans. (d): Since Srinagar lies to the north of the Tropic of]
Cancer, it never gets the vertical rays of the Sun.
119. Match the following :

Channel Location
A. 10 Degree I.  Separates Little Andaman
from Greater Andaman
B. 8 Degree II. Separates Minicoy from
main Lakshadweep
C. 9 Degree III. Separates Andaman from
Nicobar
D. Duncan Passage IV. Separates Minicoy from
Maldives
A B C D
(a) M1 0 v 1
by Ir v 1 I
(¢ I IV 1 I
(d1v o I I
MPPSC 2017

Ans. (b) :The correct match is-

a. 10 Degree Separates Andaman from
Nicobar

b. 8 Degree Separates Minicoy from
Maldives

c. 9 Degree Separates Minicoy from

main Lakshadweep
Separates Little Andaman
from Greater Andaman/
South Andaman

d. Duncan Passage

120. Duncan pass is situated between
(a) Minicoy and Amindivi
(b) South Andaman and Little Andaman
(c) Minicoy and Maldives
(d) Little Andaman and Car Nicobar
(Haryana PSC Pre 2014)

‘Ans. (b): Kindly refer the explanation of above question. ‘

121. The Nine Degree Channel is located-

(a) In between Kavaratti and Minicoy

(b) Inbetween Amindivi and Great Nicobar
(¢) In between Car Nicobar and Great Nicobar
(d) Inbetween Andaman and Nicobar Islands

UPPCS (Pre) G.S. 2002
‘ Ans. (a): Kindly refer the explanation of above question.

122.Which one of the following pairs of islands is
separated from each other by the 'Ten Degree
Channel'?
(a) Andaman and Nicobar
(b) Nicobar and Sumatra
(c) Maldives and Lakshadweep
(d) Sumatra and Java
IAS (Pre) Ist G.S. 2014
UPPSC(Pre)G.S. 2003, 2005
UPPSC UDA/LDA(M.)G.S. 2010

‘ Ans. (a): Kindly refer the explanation of above question.
123.

Which of the following separates the Andaman
from the Nicobar?
(a) 11° Channel (b) Gulf of Mannar
(c) 10° Channel (d) Andaman Sea
UP PSC ACF/RFO (Mains) 2020 Paper I

‘Ans. (¢): Kindly refer the explanation of above question.

124.The southern most point of India is-
(a) Kanyakumari (b) Rameshwaram
(c) Indira Point (d) Point Calimere
UP Lower (Pre) G.S. 2002

Ans. (¢) : Indira Point is located in Great Nicobar
Island. It is the southern most point of India.
Kanyakumari is the mainland southern most point of
India which is located in Tamil Nadu. Rameshwaram
is located in between Sri Lanka and Tamil Nadu state
of India which is also a religious place of Hindus.
Point Calimere or Cape Calimere is in the
Nagapattinam district of Tamil Nadu.

125. The southernmost point of India, Indira Point is
located in-
(a) Tamilnadu
(c) Great Nicobar

(b) Little Nicobar
(d) Car Nicobar Island
MPPSC (Pre) G.S. 2005-06

Ans. (¢) : Kindly refer the explanation of above
question.

126.The latitudes that pass through Sikkim also pass
through-

(a) Rajasthan (b) Punjab
(c) Himachal Pradesh  (d) Jammu & Kashmir
Himachal PCS (Pre)-2014
IAS (Pre) G.S. 2010

Ans. (a) : The latitude that pass through Sikkim also
pass through Rajasthan 27 degree latitude passes
through Gangtok of Sikkim and Alwar in Rajasthan.
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127.Consider the following statements:
1. Longitude of Jabalpur’s location is between those
of Indore and Bhopal
2. Latitude of Aurangabad’s location is between
those of Vadodara and Pune
3. Bangalore is situated more southward than
Chennai.
Which of these statements is/are correct?
(a)land3 (b) Only 2
(c)2and3 (d) 1,2 and 3
IAS (Pre) G.S. 2003
Ans. (¢) The longitude of Jabalpur’s location
(79.95°E) is not located between Indore (76°E) and
Bhopal (77.42°E). Hence statement (1) is incorrect. The
latitude of Aurangabad’s location (19°53’47°°N) is in
between the latitudes of Vadodara (22°30'N) and Pune
(18°31°N). Thus statement (2) is correct. The latitude of]
Bangalore is 12°97'N and the latitude of Chennai is
13°04'N. Thus Bangalore is situated more southward
than Chennai. Hence statement (3) is also correct.

128.Among the following cities, which one is at
the highest altitude above mean sea level?

(a) Bangalore (b) Delhi
(c) Jodhpur (d) Nagpur
(IAS (Pre) G.S. 2003)

Ans. (a) : The altitude of various cities above mean sea
level is as follows-
Bangalore (Bengaluru)-  936.93 metre approx)
Delhi - 225.00 metre (approx)
Jodhpur - 230.00 metre (approx)
Nagpur - 310.00 metre (approx)
129. Which of the following two are linked by the

Sethusamundram Ship Channel?

(a) Gulf of Mannar & Palk Strait

(b) Cape Comorin & Colombo

(c) Arabian Sea & Bay of Bengal

(d) None of the above

Gujarat PSC 2018

Ans. (a): Sethusamudram Ship Channel is a proposed
project aimed to create a new shipping lane connecting
the Gulf of Mannar and Palk Strait. The project has
been stopped by Supreme Court since 2007.

130. Consider the map of India given below:
The map shows:

(a)
(b)
(©
(d)

an isohyet
all-India water divide
a combination of national highways
a combination of major railway routes
(IAS (Pre) G.S. 1994)

Ans. (b) : The above given map of India shows all-
India water divide. Any elevated area, such as a
mountain or an upland, which separates two drainage
basins is known as water divide, for example the water
divide between the Indus and the Ganges river system.
The Ambala city of Haryana is considered as the main
water divide of India because the rivers at its west flow
westward and the rivers at its east flow eastward only.

131. The limit of the territorial water of India
extends upto:
(a) 3 nautical miles from the coast
(b) 6 nautical miles from the coast
(c) 12 nautical miles from the coast
(d) 24 nautical miles from the coast
UPPCS (Main) G.S. Ist Paper, 2005

Ans. (¢) : The United Nations Convention on Law of]
the Sea (UNCLOS) creates a regime of governance for
maritime zones that fall under national jurisdiction —
namely the territorial water, contiguous zone, exclusive
economic zone (EEZ) and continental shelf. A country’s
territorial waters extend 12 nautical miles from its
contiguous zone which extends upto 24 nautical miles
from the main land coastline from its coastal baseline
and it’s Exclusive Economic Zone (EEZ) up to 200
nautical miles. A coastal state also has exclusive
economic rights to the first 200 nautical miles of its
continental shelf — the sloping seabed that forms part
of the natural geological prolongation of its land
mass. States can lay claim to an extended continental
shelf by making a geological submission to the United
Nations Commission on the Limits of the Continental
Shelf (UNCLCS), up to a maximum distance of 350 nm
from its coastal baseline. The limit of the territorial
water of India also extends up to 12 nautical miles
from the coast, where India has absolute right to use this
area.

132.

India’' territorial limit extends towards the sea
up to how many nautical miles/km from the
coast?
(a) 16 nautical miles (about 25.9 km)
(b) 12 nautical miles (about 21.9 km)
(¢) 10 nautical miles (about 19.9 km)
(d) More than one of the above
(e) None of the above
(1) 68th BPSC 2022

Ans. (b): Kindly refer the explanation of above
question.
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02

. Mountain, Plateau and Plain Area

- Mountain and Hills Region ||

Which of the following is
statements?

In Maharashtra, in order from north, the
major hill ranges on the plateau and the river
basins to their south are as follows:

a. Tapi Purna basin to the south of the Satpura
mountain range.

b. Godavari river valley to the south of Satmala
Ajintha hills.

c. Harishchandra Balaghat hill and Bhima
river basin to its south.

d. Shambhu Mahadeva hills and Krishna river
basin to its south.

(a) Onlya

(b) All are correct

(c) Onlyaandb

(d) Only aandc

/are correct

MH PSC (Pre) 2023

Ans.(b): All statements are correct because

(a) Tapi Purna basin is situated south of Satpura
mountain range.

(b) Godavari river valley to the south of Satmala
Ajintha hills.

(c) Harishchandra Balaghat hill is situated north of]
Bhima river basin.

(d) Shambhu Mahadeva hills is situated north of]
Krishna river basin.

2. Consider the following statements:
1. Amarkantak Hills are at the confluence of
Vindhya and Sahyadri Ranges.

2. Biligirirangan  Hills  constitute the
easternmost part of Satpura Range.
3. Seshachalam Hills constitute the

southernmost part of Western Ghats.
How many of the statements given above the

correct?
(a) Only one (b) Only two
(c) All three (d) None
UPSC IAS (Pre) 2023

Ans. (d) : Amarkantak is at confluence of Vindhya and
Satpura Range.

The Billirangan hills are located at the North-west of]
the Western Ghats and Westernmost edge of the Eastern
Ghats.

Seshachalam Hills are part of eastern Ghats.

Thus none the statements are correct.

3. On which of the flowing hills-range is
'Doddabetta’ peak situated?
(a) Cardamom Hills (b) Anaimalai Hills
(c) Nallamala Hills (d) Nilgiri Hills
UPPSC (J) 2023

Ans. (d) : Doddabetta peak is situated in Nilgiri hills. It
is second highest peak of Western Ghats after Anaimudi
in Animalai Hills. Doddabetta peak is situated in state
of Tamil Nadu.

e Nallamala Hills is situated in Western Ghats.
e Cardamom Hills is situated in Kerala.

4. Which of the following geographical series is
not related to Vindhyan system ?
(a) Bhander Series (b) Bijawar Series
(c) Khondalite Series  (d) Kaimur Series

APPSC (Pre) 2023

Ans. (¢) : Khondalite Series is not related to Vindhyan
system. Bhander Series is western part of Vindhyan
system. Bijwar series of Vindhyas is located between
Chhatarpur & Panna district of Madhya Pradesh.
Kaimur series of Vindhyas stretches over Bundelkhand
(UP) and Baghelkhand (MP).
5. Match List I with List I1
List-1 List-11
(Doabs) (Rivers)
(A) | Bist Doab (i) Between
Chenab and
Jhelum
(B) | Chej Doab (ii) | Between Beas
and Ravi
(O) | Bari Doab (iii) | Between
Jhelum and
Indus
(D) | Sind Doab (iv) | Between Beas
and Sutlej

Choose the correct answer from the options
given below:
A) (B) (O) (D)
(@) (1) (i) (i) (iv)
(b) (iv) () (iid) (iD)
(c) (iv) (i1) (iii) (1)
(d) (iv) () (1) (iii)

Himachal PSC (Pre) 2023
Ans. (d) :
Doabs Rivers
(A)BistDoab —  Between Beas and Sutlej.
(B) Chej Doab —  Between Chenab and Jhelum.
(C)Bari Doab -  Between Beas and Ravi.
(D) Sind Doab -  Between Jhelum and Indus

6. Consider the following statements.
A. The Kashmir Himalayas are famous for
‘Karewa’ formations
B. Nalagarh Dun is the largest of all Duns.
C. Namcha Barwa mountain peak is located
in Arunachal Himalayas.
. ‘Valley of Flower’ is situated in Himachal
and Uttarakhand Himalayas.
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Code
(a) A, B, Cand D are correct.
(b) B and C are correct.
(c) A, Cand D are correct.
(d) A, B and C are correct.
(e) Question not attempt.
RPSC (Pre) 2023
Ans.(¢): Kashmir Himalaya is famous for karewa
formation which is good for production of Zafran (a
special variety of saffron). Longitudinal valleys found
in shiwalik range are known as Doons. Dehradun is
largest doon. Other important Doon are Kotli, Patli etc.
Namcha Barwa peak is located in Arunachal Himalaya
valley of flowers located in Himachal and Uttarakhand
Himalaya. It is also a National park. Thus, statement A,
C and D are correct.
7. A mountain range in the north of Narmada
river and running parallel to it is
(a) Ajanta Range (b) Satpura Range
(c) Rajmahal Range (d) Vindhya Range
Tripura PSC (Pre) 2022
Ans.(d): Vindhya range is a mountain range in the north
of Narmada river and running parellel to it. Satpura
range is at south of Narmada river.
8. Observe the following statements:
(a) Mountain located between Pravara and
Kukadi river is Harishchandra mountain
(b) River Manjira flows on Balaghat Plateau.
(c) Satmala and Ajantha mountain ranges are
between Tapi and Godavari river valleys.
(a) Statements (a) and (b) are correct
(b) Statements (b) and (c) are correct
(c) Statements (a) and (c) are correct
(d) All the above statements are correct
MH PSC (Pre) 2022

Ans.(d): Harishchandra mountain is located between

11. A part between of Himalayas Indus and Sutlej
is called-
(a) Assam Himalayas
(b) Punjab Himalayas
(c) Nepal Himalayas
(d) Kumaon Himalayas
MPPSC (Pre) Opt. Geog. 2007-08

Ans. (b) Sir Sidney Burrard has divided Himalayas into 4
transverse regions, viz. (1) Punjab Himalaya extends from
Indus to Sutlej covering the distance of 560 km, (2)
Kumaun Himalaya which is 320 km long between Sutlej
and Kali, (3) The Nepal Himalaya lies between Kali and
Tista with 800 km length, and (4) Assam Himalayas
covering 720 km long from Tista to Dihang.

12.

The three mountain ranges which determine
the border between India and Myanmar are:
(a) Khasi, Patkai and Arakan-Yoma
(b) Akai mountain range
(c) Great Dividing Range
(d) None of the above

UP Lower (Pre) G.S. 1998

Ans. (d) : The mountain ranges which determine the
border between Indian and Myanmar include the Arakan-
Yoma (Rakhine), Naga, Chin and the Lushai (Mizo) Hills.
Khasi mountain range is a part of Patkai mountain range
but it is spread in the state of Meghalaya not at the border
of India and Myanmar. Sometimes these three ranges are
known as - Purvanchal which includes Patkai Hills, Naga
Hills and Mizo Hills.

13. In which district 'Madheshwar Pahad' is
located in Chhattisgarh?
(a) Surajpur
(c) Sarguja

(b) Jashpur
(d) Kanker
CGPSC Pre 2022

Ans. (b) : Madheshwar Pahad is located in Jashpur
district of Chhattisgarh. It is on the north bank of the
river Narmada. This mountain has the distinction of]

Pravara and Kukadi river. River Manjira flows on|||being the world's largest Shivling. It is being
Balaghat plateau. Satmala and Ajanta mountain ranges| | |[Worshipped by villagers.
are between Tapi and Godavari river valleys. 14.  Correctly match the following :
9. Which city of Bihar is surrounded by five hills? @M an
(a) Gaya A. | North-Western 1. | Zaskar
(b) Patna Himalayas
(c) Bhagalpur B. | Himanchal and | 2. | Shivalik Range
(d) Bodhgaya Uttarakhand
(e) None of the above/More than one of the Himalaya
above C. | Darjeeling and | 3. | Namcha
66th BPSC Re- Exam- 2020 Sikkim Barwa
Ans. (e) : The city of Rajgir of Bihar is surrounded by 5 Himalaya
hills  viz.  Ratnagiri, = Swarngiri,  Vaibhavgiri, D. | Arunachal 4 | Lepcha Tribe
Vipulgiri/Vipulachal and Udaygiri. Himalaya
10. Which range acts as a water divide between Code:
Yamuna and son? A B C D
(a) Bhander (b) Kaimur (@) 1 2 3 4
(c) Maikal (d) Mukundara (b) 2 1 3 4
MPPSC (Pre) G.S. I' Paper, 2016 ©) 2 1 4 3
Ans. (b) The Kaimur Range acts as a water divide @1 2 4 3
between Yamuna and Son. CGPSC Pre 2022
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Ans. (d) : The correct match is as below -

List - (I) List - (IT)
North-Western Himalayas Zaskar
Himanchal and Uttarakhand | Shivalik Range
Himalaya
Darjeeling and  Sikkim | Lepcha Tribe
Himalaya
Arunachal Himalaya Namcha Barwa

15. Consider the following pairs:

Peak Mountains
1. Namcha Barwa - Garhwal Himalaya
2. Nanda Devi - Kumaon Himalaya
3. Nokrek - Sikkim Himalaya
Which of the pairs given above is/are correctly
matched?
(a) land2 (b) 2 only
(c) land3 (d) 3 only
UPSC IAS 2022

Ans. (b): Namcha Barwa is a mountain in Arunachal
Pradesh and not in Garhwal Himalaya. It is considered
as the Eastern point of the Himalayas. Nanda Devi peak
is in the state of Uttarakhand. It is a part of the Garhwal
Himalayas. The Nokrek is located in the northeast of
India on the Tura Range, which forms part of the
Meghalaya Plateau. Nokrek is the highest peak of the
Garo hills.

16. Arrange the main peaks of Western ghats on
the basis of their higher elevation to lower
elevation.

I. Doddabetta
III. Anaimudi
(2 OL I, I, IV
() LIL, I, IV

II. Ooty
IV. Puspagiri
(b) 1L, L I, IV
(d) IV, IIL I, I
J & K PSC Pre 2022
Ans.(b): The correct deseending order of the elevation
of the given peaks of weather Ghats is as follows-
Anaimudi (2695 m) — Doddabetta (2637 m)
Ooty (2240 m) — Puspagiri (1712 m)

- Plateau Region ||

%

18. Deccan Traps are largely made of

(a) Flow of basalt

(b) River deposit

(c) Limestone

(d) Lava flow alternating with sedimentary deposits
Mizoram PSC (Pre) 2023

Ans.(a): Deccan Traps are largely made of flow of]
Basalt. The Deccan trap covers a significant part of]
western peninsula in the India in states of Maharashtra,
Goa and Gujarat Southern Rajasthan. Black soil made
up of Basaltic rocks is good for 'cotton' cultivation. It is
also known as Black cotton soil or Regur.

19.

A plateau located in Vindhya Range is
(a) Deccan Plateau
(b) Chhotanagpur Plateau
(c) Telengana Plateau
(d) Malwa Plateau
Tripura PSC (Pre) 2022

Ans.(d): Malwa plateau is located in Vindhya range
Malwa plateau occupies region in Madhya Pradesh and
south eastern Rajasthan. This plateau has two systems
of drainage one towards Arabian sea (The Narmada, the
Tapi and the Mahi) and the other towards the Bay of]
Bengal (Chambal and Betwa joining the Yamuna)

20. Which one of thefollowing geographical
regions is the oldest in the country?
(a) Himalayan Mountainous Region
(b) Great Plains of North India
(¢) Indian Peninsular Plateau
(d) Eastern Coastal Plains
(e) None of the above
Chhattisgarh PSC (Pre) G.S. 2017

Ans. (¢) : The Indian Peninsular Plateau is one of the
oldest in the country which is a triangle-shaped plateau
that encompasses the majority of areas of peninsular
India. Its northern fringes are the Chhota Nagpur
Plateau and Satpura Range. Mountains, known as the
Eastern and Western Ghats, create the other borders of]
the triangle and are joined at its summit by the
Anaimalai, Nilgiri, and Cardamom hills.

In the physical map of India, Maharashtra
plateau is shown by which of the following

colours ?
(a) Dark green (b) Green
(c) Yellow (d) Brown

MH PSC (Pre) 2023
Ans.(c): In the physical map of India, Maharashtra
plateau is shown by yellow colour. Yellow colour is
used to show plateaus.

e Dark Green Color — Dense forest
e Green Color — Agricultural land
e Brown Color — Mountains

21. What are not true about the Peninsular
Plateau?
(i) Height of this plateau is approximately 1000-
1500 meters
(ii)) Height of this plateau generally decreases
from West to East
(iii) On its East there are Gir Ranges and on West
there are Rajmahal Hills
(a) (1) and (ii)
(b) (ii) and (iii)
(¢) (1) and (iii)
(d) None of the above
CGPSC Pre 2022
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Ans. (c) : Average height of peninsular plateau is about
600 m. Though it rises to 1000 m in the south but dips
to 500 m in the north. Hence, 1* statement is incorrect.
As indicated by the flow of its major rivers, the general
slope of peninsular plateau is from west to east. Hence,
2" statement is correct. Gir Ranges are in the west of
peninsular plateau and Rajmahal Hills are in the east
side of'it, hence 3rd statement also incorrect.

22.  Match the following :

Column-I Column-IT

A. | Dome-shaped 1. | Deccan Plateau
Plateau

B. | Volcanic 2. | Vindhya
Plateau Plateau

C. | Step-like 3. | Chota Nagpur
Plateau Plateau

D. | Piedment 4 | Shillong Plateau
Plateau

Code :
A B C D

(a) 1 3 4 2

(b) 2 4 3 1

() 3 1 2 4

(d) 4 2 1 3

Maharashtra PSC 2022
Ans. (¢): The correct match is as follows :—

Dome Shaped — Chhota Nagur Plateau
Plateau

Volcanic Plateau — Deccan Plateau
Step-Like Plateau — Vindhya Plateau
Piedment Plateau — Shillong Plateau

*2c¢ Plain Region
23. The average height of the Kosi plain from

mean sea level is

(a) 300 m

(b) 150 m

(¢) 30m

(d) None of the above

69th BPSC (Pre) 2023

Ans.(c): The average height of the Kosi plain from
mean sea level is 30m. Kosi has its source in Tibet and
flows through Tibet, Nepal and India, It's three main
tributaries are the Sun Kosi, Arun and Tamur. Kosi
River is known as sorrow of Bihar due to changing
pattern of flow frequently.

24,

Coastal plain between Mumbai and Goa is
(a) Konkan plain
(b) Coromandal plain
(c) Malabar plain
(d) Kannad plain
Tripura PSC (Pre) 2022

Ans.(a): Coastal plain between Mumbai and Goa
known as Konkan plain.

¢ Kannad plain extends from Goa to Mangalore

e Malabar plain extends between Mangalore and
Kanyakumari

o Utkal plain comprise coastal areas of Odisha.
e Northern Circar-comprise coastal areas of Andhra

e Coromandel plain comprise coastal areas of Tamal
Nadu.

25.  Which of the following statements are correct
about Bhabhar Plains?
(a) The porosity is very high and hence small
rivers disappear.
(b) The Bhabhar tract is suitable for crops.
(¢) The inhabitants of the Bhabhar Plains are
cattle-keeping Gujjars.
(a) Statements (a) and (b)
(b) Statements (b) and (c)
(c) Statements (a) and (c)
(d) Statements (a), (b) and (c)
MH PSC (Pre) 2022
Ans.(c): Bhabar plain lies in foothills of Shiwalik

range. It is a narrow, parous & northern stretch of the
Indo gangetic plain Many small rivers disappears here.
Bhabar plain is not suitable for agriculture and only big
trees with large roots thrive in this belt. Statement (A)
and (C) are correct about Bhabar plains.

26. Which of the following is a desert region?

(a) Sindhu area

(b) Gangetic area

(c) Assam area

(d) Central India area

MP PSC (Pre) 2018

Ans. (a) : In the above mentioned options Sindhu area is a
desert region.
27.  Ganga Plain has been described as a

(a) Pediplain

(b) Peneplain

(c) Geosyncline

(d) Karst plain

(e) None of the above/More than one of the above
67" BPSC Pre Exam- 2022 (08.05.2022)

Ans. (c): Ganga Plain can be best described as a
geosyncline. Geosyncline means a huge depression.
Peneplain means a more or less level land surface
produced by erosion over a long periods. Pediplain is an
extensive plain formed in a desert by the coalescence of]
neighbouring pediments. Karst plains can be best
described as limestone plain.
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03.

Drainage System

1. Observe the following statements :

(a) Jhelum is a tributary of River Indus and
flows through Lake Wular.

(b) Sutlej is a southern tributary of River
Indus.

(a) Only statement (a) is correct

(b) Only statement (b) is correct

(c) Statements (a) and (b) are correct

(d) Statements (a) and (b) are incorrect

MH PSC (Pre) 2022

Ans.(c): Jhelum is tributary of river Indus and flows
through Lake wular. Sutlej is a southern tributary of]
river Indus, Jhelum, Chenab, Ravi, Satlej, Beas,
Zanskan, Shyok, Hunza Swat, Kabul, Gomal are
important tributaries of Indus river. Indus river
originates from a glacier near Bokhar Chu in Tibetan
region Hence, statement (a) and (b) are correct.

Indus Basin ||

Which one among the following rivers flows
between Ladakh and Zaskar mountain ranges?
(a) Chenab (b) Sindhu
(c) Jhelum (d) Sutlej

UPPCS (Pre) Opt. Geog. 2006, 2004

Ans. (b) The Indus river or the Sindhu river rises in
the southwestern Tibet (Autonomous Region of China)
near Mansarovar Lake. It flows northwest, crossing the
southeastern boundary of the Kashmir region. A short
way beyond Leh, in Ladakh , it is joined on its left by
its first major tributary, the Zaskar River.
3. Which of the following
correct?
(a) Indus river originates from the Tibet Plateau.
(b) Jhelum river originates in Kashmir Valley.
(c) The Ravi rises in the Chamba district of
Himachal Pradesh.
(d) Sutlej originates from Rohtang Pass.
Gujarat PSC 2018
Ans. (d): The origin of the Sutlej River is located close
to lake Rakhastal in Tibet in vicinity of Kailash
Mansarovar range, rest all the options are correct.
4. Lehis located-
(a) On the right bank of Jhelum river
(b) On the left bank of Jhelum river
(c) On the right bank of Indus river
(d) On the left bank of Indus river
UP RO/ARO (Pre) G.S. 2013
‘ Ans. (¢) Leh is situated on the right bank of Indus river.
5. Which frozen river is basically a 'Chadar Trek'

that attracts adventure tourists every year to
Ladakh?

(a) Shyok River
(c) Zanskar River

statements isn't

(b) Nubra River
(d) Galwan River
Karnataka PSC 2020

Ans. (¢) : The Chadar Trek or the Zanskar Gorge Trek
i1s a winter trail over the frozen Zanskar River, which
lies in the Indian union territory of Ladakh. It is
traditionally the means of travel in the area during the
harsh winter months. The trek has become popular
among adventure tourists.
6. The surrounding region of Indus river is called
"Nakhlistan" which means:
(a) Garden of Eden (b) Garden of Dreams
(c) Garden of Sind (d) Garden of Dead
Gujarat Psc Civil Pre-Paper-I (21-3-2021)
Ans. (c¢) : Nakhlistan means Garden of Sind. It was
developed in the valley of river Indus, in the Larkana
district of Sindh in Pakistan.
7. Which of the following is correct order of
rivers from north to south?
(a) Jhelum, Chenab, Ravi, Sutlej
(b) Jhelum, Ravi, Chenab, Satlej
(c) Ravi, Jhelum, Chenab, Satlej
(d) Ravi, Chenab, Jhelum, Satlej
Himachal PCS (Pre)-2014
Ans. (a) The correct order of the given rivers from
North to South are —Jhelum, Chenab, Ravi, Sutlej.
8. Under the Indus Water Treaty (IWT) India
had been given the exclusive rights over the

rivers of

a. Chenab b. Ravi
c. Beas d. Indus
e. Sutlej f. Jhelum

Choose the correct answer from the codes

given below:

(a) a, b, and c only (b) a, c, and d only

(c) b, cand e only (d) a, band fonly
TSPSC Group II Pre 11.11.2016 Paper-I

Ans. (c¢) : The Indus Water Treaty was signed in the
year 1960 between India and Pakistan. The treaty sets
out a mechanism for cooperation and information
exchange between the two countries regarding the use
of rivers water. Under the Indus water treaty, India has
been given the exclusive right over the rivers of Sutlej,
Beas and Ravi. These rivers were completely awarded
to India.

9. From north towards South, which one of the
following is the correct sequence of the given
rivers in India?

(a) Shyok - Spiti - Zanskar - Sutlej
(b) Shyok - Zanskar - Spiti - Sutlej
(c) Zanskar - Shyok - Sutlej - Spiti
(d) Zanskar - Sutlej - Shyok — Spiti
(IAS (Pre) G.S. 2006)

Ans. (b) The correct sequence of rivers in India from
north towards south is as follows: Shyok, Zanskar,
Spiti and Sutlej. Shyok is the tributary of Indus River.
It meets Indus River at right bank. In central Asia it is
commonly known as Yarkandi and in Karakoram
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region it is known as the “River of Death”. Zanskar is
a tributary of Indus River and originates from the
Kunzum Range of the Himalayas in a way that it
divides Lahaul and Spiti. Sutlej originates from
Rakshastal near Mansarovar Lake and cutting the
Shiwalik mountain range, it enters in Himachal
Pradesh from Shipki La. The famous Bhakara Nangal
dam is built on this river.

Sutluj River

10. Which one of the following rivers does not
originate in India?
(a) Beas (b) Chenab (c) Ravi (d) Sutlej
(IAS (Pre) G.S. 2009)
Uttarakhand UDA/LDA (M) G.S. 2007

Ans. (d) : Sutlej river originates from Tibet. Source of
river is at Lake Rakshatal near Mount Kailash.

11. Which one of the following rivers does not
originate in India?
(a) Sutlej (b) Ravi
(c) Chenab (d) Beas
UPPCS (Pre) GS, 2013
IAS (Pre) G.S. 2009

Ans. (a) Sutlei originates from Rakshastal in Tibet
region. Beas river originates near Rohtang Pass in
Himachal Pradesh. The Ravi river was known as
Purushni in ancient India. it originates in the
Himalavas in the Chamba district of Himachal
Pradesh. It is the smallest of five Punjab rivers.
Chenab was known as Ashkini in ancient times. It is
also called Chandra Bhaga, formed after the two
streams; the Chandra and the Bhaga merge with each
other in India. The Chandra and the Bhaga originate
from the South-west and North-west faces of
Baralacha pass respectively in the Lahul and spiti
valley in Himachal Pradesh. Hence, Sutlei river does
not originate in India and rest others originate in India.

12. Which of the following rivers is a Trans-
Himalayan river?
(a) Jhelum (b) Sutlej
(c) Ganga (d) Ravi
UP PCS (Pre) 2020

Ans. (b): Kindly refer the explanation of above questiog

13.  Which of the following rivers of India cuts
across all the three ranges of the Himalayas?
(a) Ravi (b) Sutlej
(c) Beas (d) Chenab
UPPCS (Main) G.S. Ist Paper 2012
UP RO/ARO (M) G.S. 2014

Ans. (b) The source of the Sutlej lies in Rakshastal
near the Mansarovar Lake in the Tibetan Plateau where
it is known as Langchen Khambab . During its course
of 529 kms, it cuts across all the three mighty
Himalayan ranges namely the Zanskar range, the Great
Himalayan range and the Dhauladhar range.

Jhelum River

Which of the following tributaries of Indus
river emerges from the Pir Panjal Range?
(a) Satlyj (b) Ravi
(c) Chenab (d) Jhelum
OPSC (OCS) Pre 2021 Paper-I

14.

Ans. (d) : The Jhelum rises from a deep spring at
Verinag in the foothills of Pir Panjal ranges, in western
Jammu and Kashmir. It joins Chenab near Trimmu in
Pakistan.

15.

Jhelum river rises form:
(a) Wular lake
(b) Dul lake
(c) Verinag spring
(d) Potwar plateau
Himachal PSC (Pre) 2023

Ans.(c): Jhelum river rises from a spring at verinag
situated at the foot of the pir panjal in southeastern part
of valley of Kashmir It is tributary of Chenab river.
16. Which one of the following rivers does not flow

through Himachal Pradesh?

(a) Jhelum (b) Beas

(c) Chenab (d) Ravi

Mizoram PSC -2021

Ans. (a) : The Jhelum river rises from a deep spring at
Verinag, in western Jammu & Kashmir (Union
Territory of India). It flows from the Indian union
territory of Jammu & Kashmir into Punjab province of]
Pakistan, passing through the Pak occupied Kashmir. It
is the westernmost river among five rivers of Indus
system, and it does not flow from Himachal Pradesh.

Chenab River

The largest tributary of Indus river is—
(a) Chenab (b) Ravi
(c) Beas (d) Sutlej
MPPSC (Pre) Opt. Geog. 2006
Ans. (a) The length of various tributaries of the Indus
are as follows:
Chenab - 1180 Km
Ravi - 725 Km
Beas - 460 Km
the largest tributary of Indus of Chenab

18.

17.

With reference to the Indus river system, of the
following four rivers, three of them pour into
one of them which join the Indus direct.
Among the following, which one is such river
that joins the Indus direct?
(a) Chenab (b) Jhelum
(c) Ravi (d) Sutlej

UPSC (IAS) Pre 2021

Ans. (a): The Indus originates in the northern slopes of]
the Kailash range in Tibet near Lake Manasarovar. It
follows a northwesterly course through Tibet. It turns to
the left after the Nanga Parbat massif and flows southwest
through Pakistan. The main tributaries from Punjab -
Sutlej, Ravi, Chenab and Jhelum join it as : First, river
Jhelum joins then the river Chenab, then the Ravi river
joins the Chenab and at last the river Sutlej joins the river
Chenab and Chenab continues further, joins the Indus
direct a little above Mithankot, Pakistan. Indus river
continues and drains into the Arabian Sea east of Karachi,
Pakistan.

Hence, option (a) is the correct answer.
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19. Kishanganga is a tributary of:
(a) Ravi (b) Chenab
(¢) Jhelum (d) Beas

UPPCS (Main) G.S. Ist Paper 2013

Ans. (¢) The Kishanganga River or Sonmarg River
originates from Vishansar Lake in the vicinity of
Sonamarg in Jammu and Kashmir, It joins the Jhelum
river in Muzaffarabad in Paksitan occupied Kashmir.

20. Which one of the following rivers does not pass
through Uttar Pradesh?
(a) Ganga (b) Yamuna
(c) Ramganga (d) Jhelum
UPPCS (Main) G.S. Ist Paper 2004

Ans. (d) The Jhelum. an important tributary of the
Indus, rises from a spring at Verinag situated at the
foot of the Pir Panijal in the south-eastern part of the
valley of Kashmir. It flows through Srinagar and the
Whular lake before entering Pakistan through a deep
narrow gorge. It joins the Chenab near Jhang in
Pakistan. It does not pass through Uttar Pradesh.

Ravi and Beas River

Which river of the Indus basin lies entirely
within the Indian Territory?
(a) The Jhelum (b) The Chenab
(c) The Ravi (d) The Beas
Tripura PSC- 2019

Ans. (d) : River Beas is a comparatively smaller rivej

21.

which is only 460 km long and lies entirely within the
Indian territory.

22. Rivers that pass through Himachal Pradesh are:
(a) Beas and Chenab only
(b) Beas and Ravi only
(c) Chenab, Ravi and Sutlej only
(d) Beas, Chenab, Ravi, Sutlej and Yamuna
(IAS (Pre) G.S. 2010)

Ans. (d) Beas, Chenab, Ravi, Sutlei and Yamuna all of
these pass through Himachal Pradesh. Sutlei originates
from Rakshastal near Mansarovar Lake and cutting the
Shiwalik mountain range. it enters in Puniab. River
Ravi originates in the southern slopes of Pir Panjal
ranges near Rohtang Pass in Himachal Pradesh. It
flows south past Manali and through the Kullu Valley
before entering the Punjab plains. It meets the Sutlej
River near the Harike Wetland south of Amritsar. The
Beas River flows from a height of 4330 m. at Rohtang
Pass, Himachal Pradesh, from where it flows through
the Kullu valley and finally enters in Punjab plains.

|I: Brhmaputra Basin |

23. In Which of the following river is the 'Majuli
river island' situated?
(a) Brahmaputra

(b) Krishna

24. Which of the following statement is not true?
(a) Teestariver is tributary of Ganga
(b) Ukai Dam project is on Tapi river
(c) Doons are large mountain valleys
(d) Plain of Coromandel Coast is more wide than
Malabar coastal plain.

UPPCS (Pre) Opt. Geog. 2008
Ans. (a) The Teesta River originates in the Himalayas
and flows through the States of Sikkim and West
Bengal before entering Bangladesh, where it flows into
the Brahmaputra.

25.

The Brahmaputra, Irrawaddy and Mekong
rivers originate in Tibet and flow through
narrow and parallel mountain ranges in their
upper reaches. Of these rivers, Brahmaputra
makes a “U” turn in its course to flow into India.
This “U” turn is due to:
(a) Uplift of folded Himalayasn series
(b) Syntaxial bending of geologically young

Himalayas
(c) Geo-tectonic disturbance in the tertiary folded
mountain chains
(d) Both (a) and (b) above

(IAS (Pre) Ist Paper G.S. 2011)

Ans. (b) The Brahmaputra, Irrawady and Mekong
rivers originate in Tibet and flow through narrow and
parallel mountain ranges in their upper reaches: Of
these rivers, Brahmaputra makes a "U" turn in its
course to flow into India. This "U" turn is due to the
Syntaxial bending of geologically young Himalayas.

26. With reference to river Teesta consider the

following statements:

1. The source of river Teesta is the same as that
of Brahmaputra but it flows through Sikkim.

2. River Rangeet originates in Sikkim and it is a
tributary of river Teesta.

3. River Teesta flows into Bay of Bengal on the
border of India and Bangladesh.

Which of the statements given above is/are

correct?

(a) 1and3 only (b) 2 only
(¢) 2and 3 only (d 1,2and3
L.A.S. (Pre) G.S. 2017

Ans. (b) Teesta river originates from the Tso Lhamo
Lake located at North Sikkim district while the
Brahmaputra river originates from the
Chemayungdung Glacier near the Mansarovar, lake
located at Tibet. Hence statement (1) is wrong. River
Rangeet is a tributary of Teesta river originates from
the Himalayan mountain of west Sikkim district.

The Teesta river boarders India and Bangladesh and
joins river Brahmaputra in Bangladesh. Hence it
doesn't drain directly into Bay of Bengal .

(c) Ganga (d) Godavari Hence only statement (2) is correct.

UPPSC (J) 2023 | 27.  Given below are two statements, one is labelled
Ans.(a): Majuli river island situated in the Brahmaputra as Assertion (A) and other as Reason (R):
river. It .is. largest river island of world. Brahrr'laputya Assertion (A): Teesta River was earlier a
river originates from Chemayungdung glaciers in tributary of Ganga now it is a tributary of
southwestern Tibet. It's source is very close to the Brahmaputra.
sources of Indus and Sutlej. Mariam La separates the Reason (R): River capturing is a major feature
source of the Brahmaputra from the manasarovar lake. of Himalyan Rivers.
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Select the correct answer using the codes given
below.
Codes:
(a) Both (A) and (R) are true and (R) is correct
explanation of (A)
(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)
(c) (A)is true, but (R) is false
(d) (A) is false, but (R) is true
UPPCS (pre.) 2021
Ans. (a): Around 300 vyears ago, the Teesta was a
tributary of the Ganga and now it is a tributary of]
Brahmaputra.
River capturing and shifting courses are a typical
phenomenon of Himalayan rivers drainage and it
happens due to head ward erosion of rivers and is very
common in hilly regions like the Himalayas.
28.  Which among the following rivers does not
originate in Indian Territory?
(a) Narmada (b) Chambal
(c) Brahmaputra (d) Jhelum
Nagaland NCS Prelims-2019
Ans. (¢): Brahmaputra, also called Tsangpo in Tibet, is
one of the largest rivers in Asia. It has its origin from
Chemayungdunga glacier in Tibet. It flows through
Tibet, India and Bangladesh.

29. Consider the following pairs:
Tributary River Main River
1. Chambal Narmada
2. Son Yamuna
3. Manas Brahmaputra
Which of the pairs given above is/are correctly
matched?
(@) 1,2 and 3 (b) 1 and 2 only

(c) 2 and 3 only (d) 3 only

(LA.S. (Pre) G.S. 2008)

Ans. (d) Narmada is a river of peninsular region. It
flows from east to west. Chambal is a tributary of
Yamuna and Son is the tributary of Ganga. Hence pair
(1) and (2) both are not correctly matched.
Brahmaputra (2900 kms.) originates from the
Mansarovar lake, also the source of the Indus and the
Sutlej. Manas River is the major tributary of the
Brahmaputra River. It joins Brahmaputra river in
Jogighopa.

30.

The Brahmaputra is a trans-boundary river in
Asia that cuts through the following countries:
(a) Nepal, Bhutan, India and China
(b) Tibet, China, Bhutan and India
(c) China, India, Bhutan and Bangladesh
(d) Tibet, China, India and Bangladesh

TSPSC Group I Pre 11.11.2016 Paper-I
Ans. (d) : The Brahmaputra is a trans boundary river in
Asia that cuts through the following countries - Tibet,
China, India, Bangladesh.
31. Which of the following is not a tributary of
Brahmaputra River?
(a) Kolong
(c) Kopili

(b) Sankosh
(d) Dhaleshwari
Manipur PSC-2016

Ans. (d): Dhaleshwari River is a distributary of the
Jamuna River in Tangail district of Bangladesh. The
Brahmaputra River originates in Himalayan Lake
Manasarovar in Tibet. It travels across Tibet, India and
Bangladesh. It is also known as the Yarlung Tsangpo
River in Tibet and Jamuna in Bangladesh. It enters India
west of Sadiya town in Arunachal Pradesh. Its
tributaries include Dibang, Subansiri, Manas, Pagladiya,
Puthimari, Kameng, Sankosh, Kopili, kolong Lohit etc.
and finally it drains into the Bay of Bengal.

32. InIndia, ‘Yarlung Zangbo River’ is known as-
(a) Ganga (b) Indus
(c) Brahmaputra (d) Mahanadi
BPSC (Pre) G.S. 2015
Ans. (¢) Kindly refer the explanation of above
question.
33. Manas is tributary of which river?
(a) Godavari (b) Mahanadi
(c) Krishna (d) Brahmaputra
BPSC(Pre.) G.S. 2000-01
Ans. (d) Kindly refer the explanation of above
question.
34. The Brahmaputra River in Tibet is known as-
(a) Padma (b) Chemayungdung
(c¢) Himjug (d) Tsangpo

Jharkhand PSC (Pre) G.S. 2003
‘ Ans. (d) Kindly refer the explanation of above question. ‘
35.

Kopili is a tributary of-

(a) Gandak (b) Kosi
(c) Ganga (d) Brahmaputra
RAS/RTS (PRE) G.S. 2009

‘ Ans. (d) Kopili is south bank tributary of Brahmaputra

36. Which of the following is/are tributary/
tributaries of Brahmaputra?
1. Dibang
2. Kameng
3. Lohit
Select the correct answer using the code given
below.
(a) 1 only (b) 2 and 3 only
(c) 1 and 3 only (d)1,2and 3
(IAS (Pre.) GS Ist Paper, 2016)
Ans. (d) The Brahmaputra receives numerous

tributaries in its 750 km long journey through the
Assam valley. Its major left bank tributaries are the
Burhi Dihang and Dhansiri (South) whereas the
important right bank tributaries are the Subansiri,
Kameng, Manas and Sankosh.

Left bank tributary - Lohit, Nayang, Kolong

Right bank tributary - Kameng, Manas, Teesta.

37.

The river which is said to be the lifeline of

Sikkim is-
(a) Manas (b) Lohit
(c) Sankosh (d) Teesta
TNPSC 2016

Ans. (d) Teesta river is said to be the life line of
Sikkim State. This river flows for almost the entire

length of the state.
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38. Brahmaputra, after joining Teesta river; is
known as :
(a) Jamuna (b) Padma
(c) Meghna (d) Dihang

Himachal PSC (Pre) 2016)

Ans. (a) Brahmaputra, after joining Teesta river; is
known as Jamuna in Bangladesh.

39.

Which among the following rivers have almost
same point of emerging?
(a) Brahmaputra and Ganga
(b) Tapi and Beas
(c) Brahmaputra and Indus
(d) Indus and Ganga
UPPCS (Pre) G.S. 2006
Himanchal PCS (Pre.)-2011

Ans. (¢) The Brahmaputra, one of the largest rivers of
the world, has its origin in the Chemayungdung glacier
of the Kailash range near the Mansarovar lake. The
Indus also known as the Sindhu, is the westernmost of
the Himalavan rivers in India. It originates from a
glacier near Bokhar Chu in the Tibetan region in the
Kailash Mountain range. In Tibet, it is known as ‘Singi
Khamban; or Lion’s mouth. Both the rivers have
almost same point of emerging.

40.

Brahmputra river in Himalayas is an example of-
(a) Antecedent drainage
(b) Consequent drainage
(c) Subsequent drainage
(d) Superimposed drainage
UPPCS (Pre) Opt. Geog. 2009

Ans. (a) An antecedent stream (a thing that existed
before) is a stream that maintains its original course
and pattern despite the changes in underlying rock
topography. A stream with a dendritic drainage
pattern, for example it can be subjected to slow tectonic
uplift. However, as the uplift occurs, the stream erodes
through the rising ridge to form a steep-walled gorge. The
stream thus keeps its dendritic pattern even though it
flows over a landscape that will normally produce a trellis
drainage pattern Brahmaputra is a fine example of an
antecedent drainage.

- Ganga Basin ||

Which of the following statement is correct?
(1) Ram Ganga river joins the Ganga at

Kannauj.

(2) River Betwa joins the Yamuna near
Prayagraj.

Select the correct answer using the code given

below—

Code :

(a) Only2 (b) Neither 1 nor 2

(c) Only 1 (d) Both 1 and 2

UPPCS (Pre) 2023
Ramganga river joins the

Ans.(c): Statement 1 :
Ganga at Kannauj is correct.
Statement 2 : River Betwa joins the Yamuna near

42. Ganga is navigable-
(a) Betweeen Haridwar and Kanpur
(b) Between Allahabad and Varanasi
(c) Between Patna and Kolkata
(d) Between Allahabad and Haldia
(I.A.S. (Pre) Opt. Geography-2001)
Ans. (d) Ganga is navigable between Allahabad and
Haldia. This stretch has been named as National Water
way 1.
43. Which of the following river forms tide?
(a) Mahanadi (b) Hooghly
(c) Godawari (d) Kaveri
UPPCS (Pre) Opt. Geog. 2008

Ans. (b) The river Hooghly is also known as tidal river
because its flow and level are influenced by tides.

44. Identify the only tributary of River Ganges which
rises in the plains—

(a) Son (b) Sharda or Saryu
(c) Gomti (d) Ram Ganga
UP Lower (Pre) 2008

Ans. (¢) River Gomti is the only tributary of river
Ganga which rises in the plain. It originates from
Gomat Taal (Fulhar Jheel) located at Pilibhit in UP.

45. Sunderban delta is formed by the rivers-
(a) Ganga and Brahmaputra (b) Ganga and Jhelum
(¢) Sindhu and Jhelum (d) Ganga and Sindhu
MPPSC (Pre.) G.S. I' Paper 2014

Ans. (a) World’s largest delta located in West Bengal,
the Sundarban delta is formed by the rivers Ganga and
Brahmaputra and Meghna Rivers. It comprises of
closed and open mangroves. The most abundant tree
species are Sundari trees from which it derives its
name Sundarbans. Sundarban Delta was declared a
UNESCO World Heritage Site in 1987.

46.

Sunderban Delta is famous for which tree?

(a) Rosewood (b) Sal

(¢) Sundari (d) Shisham
Uttarakhand RO/ARO (M) 2016

Ans. (¢) Sundari is a species of mangrove in the family

Malvaceae. Sunderbans delata is famous for this tree.

47. After entering in Bangladesh, Ganga is called-
(a) Padma (b) Meghna
(c) Hugli (d) Lohit
(Uttarakhand Lower (Pre) 2011
Ans. (a) After entering in Bangladesh, Ganga is known
as Padma. At Chandanpur of Bangladesh, Padma
merges with Brahmaputra where it is known as
Meghna or Jamuna.
48. On which of the banks of the following rivers the
famous temple of Badrinath is situated?
(a) Alakananda (b) Bhagirathi
(c) Mandakini (d) Ganga
UP RO/ARO (Pre) G.S. 2013

Ans. (a) The famous temple of Badrinath is situated on
the banks of river Alakananda while Kedarnath is

Prayagraj is incorrect as it joins near Hamirpur. Thus,| | |located on the banks' _Of river Mandakini. The
only statement- I is correct. Alakananda and Mandakini meet at Rudra Prayag.
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49. Ganga River is an example of:
(a) Antecedent drainage
(b) Consequent drainage
(c) Insequent drainage
(d) Subsequent drainage
UP RO/ARO (Pre) G.S. 2013

Ans. (a) The Rivers that existed before the upheaval of
the Himalayas and cut their courses southward by
making gorges in the mountains are known as the
antecedent rivers. The Indus, Sutlej, Ganga, Sarju or
Saryu (Kali), Arun (a tributary of Kosi), Teesta and
Brahmaputra are some of the important antecedent
rivers, originating from beyond the Greater Himalayas.
50. At which of the following towns the Alakananda
and the Bhagirathi combines to form River
Ganga?
(a) Haridwar (b) Rishikesh
(c) Rudraprayag (d) Devprayag
(e) None of the above/More than one of the above
BPSC (Pre) G.S. 2016

Ans. (d) At Devprayag, the Bhagirathi meets the
Alakananda; hereafter, it is known as the Ganga.

51.

Which one of the following rivers joins the

Ganga at Fatuha?

(a) Son (b) Punpun

(c) Sakri (d) Balan

(e) None of the above/More than one of the above
63th BPSC (Pre)-2018

Ans. (b) : The River Punpun meets the river Ganga
near Fatuha in Bihar

52. The longest river of India is:

(a) Brahmaputra (b) Ganga
(c) Godavari (d) Indus
MP PSC (Pre) 2018

Himanchal PCS (Pre)-2013

Ans. (b) the length of the rivers (in India)given in the
options above are as-
Rivers Length in India.
(a) Ganga - 2510 kms
(b) Indus - 1114 kms
(c) Brahmaputra- 916 kms
(d) Godavari - 1450 kms
53. The confluence of the rivers Son and Ganga is

located in which district of Bihar?

(a) Buxar (b) Patna

(c) Bhojpur (d) Nalanda

(e) None of the above/More than one of the above

67" BPSC Pre Exam- 2022 (08.05.2022)

Ans. (b): Son river is perennial river located in central
India. It originates near Amarkantak Hill in Madhya
Pradesh and finally merges with the Ganga river in
Patna, Bihar.

54.

River Ganga enters in Uttar Pradesh from
which district?

Ans. (a): The Ganges River enters in Uttar Pradesh
from Bijnor district and flows through 27 districts of]
Uttar Pradesh. The major cities of Uttar Pradesh located
on the banks of the Ganges river are Prayagraj,
Varanasi, Kanpur, Kannauj, Mirzapur, Ghazipur, Ballia,
etc. It has been declared as the National River of India
by the Government of India in November 2008.
55. Which of the following rivers has the largest
river basin in the Indian subcontinent?
(a) The Brahmaputra  (b) The Indus
(¢) The Ganga (d) The Krishna
ASSAM PSC 2021
Ans. (c): There are 20 river basins/draining areas in
India. Out of them the Ganga Basin in the largest river
basin in India. The second largest river basin of India is
Godavari basin.
56. The Mandakini River is related to which major river?
(a) Alakananda (b) Bhagirathi
(c) Yamuna (d) Dhauli Ganga
Uttarakhand PCS (Pre) G.S. 2006-07

Ans. (a) The river Mandakini, which is the most
important river coming down from the slopes of
Kedarnath peak, joins the Alakananda at Rudraprayag.
The river actually originates from the springs fed by
melting snow of Chorabari glacier about one km above
Kedarnath temple.

57. Bhagirathi river originates from:
(a) Mount Kailash (b) Mansarovar Lake
(c) Gomukh (d) Tapovan
MPPSC (Pre) G.S. Ist Paper 2013
Ans. (¢) Bhagirathi river originates from Gomukh
Glacier Gangotri in Uttarkashi district of Uttarakhand.
58. The Bhagirathi river originates from-
(a) Gangotri (b) Gomukh
(c) Mansarovar (d) Tapovan
Chhattisgarh PSC (Pre) G.S. 2010-11
‘ Ans. (b) Kindly refer the explanation of above question.
59. Gangotri is located at the bank of river-
(a) Alakananda (b) Bhagirathi
(c) Pindar (d) Mandakini
Utt. PCS (Pre) Opt. Geog. 2006-07
‘ Ans.(b) Kindly refer the explanation of above question.

60. In the map shown in the given figure, rivers
labelled as 1, 2, 3 and 4 are respectively

" -
Ly ~~_* Nepal
< - sKathmandu

—_ . ¥

S 5
e ST ||'
(a) Kosi, Gomati, Ghaghara and Gandak
(b) Kosi, Ganga, Gomati and Ghaghara
(c¢) Gandak, Ganga, Gomati and Ghaghara
(d) Teesta, Gomati, Ghaghara and Kosi

(IAS (Pre.) G.S. 1997)

(a) Bijnor (b) Meerut
(c) Saharanpur (d) J.P. Nagar
UPPSC RO ARO (Mains) 2021

Ans. (c) In the map shown above, rivers labelled as 1,
2, 3 and 4 respectively represent Gandak, Ganga,
Gomti and Ghaghara.
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Different Prayaga
Which one of the following place is the confluence
of the river Alakhnanda and the Bhagirathi?
(a) Dev Prayag (b) Karan Prayag
(c) Vishnu Prayag (d) Rudra Prayag
UPPCS (Pre) 2023
Ans.(a): Prayags with corresponding confluence of
rivers are as follows :-
Devprayag—Alaknanda + Bhagirathi
Karnaprayag—Alaknanda+Pindar
Vishnuprayag—Alaknanda+Dhauliganga
Rudraprayag—Alaknanda+Mandakini
62. The origin of Alakananda river is—
(a) Milam Glacier
(b) Poting Glacier
(c) Sato Panth Glacier
(d) Bandarpunch Glacier
Utt. PCS (Pre) Opt. Geog. 2006-07
Ans. (¢) The Alakananda has its source in the
Satopanth glacier above Badrinath. The Alakananda
consists of the Dhauli and the Vishnu Ganga which
meet at Joshimath or Vishnu Prayag. The other
tributaries of Alakananda such as the Pindar joins it at
Karna Prayag while Mandakini or Kali Ganga meets it
at Rudra Prayag.
63. Match List-I with List-II and select the correct
answer from the codes given below:

61.

List-I List-11

(Place) (Confluence of the rivers)
A. Rudra Prayag 1. Bhagirathi — Alakananda
B. Nanda Prayag 2. Alakananda — Mandakini
C. Karna Prayag 3. Alakananda — Mandakini
D. Dev Prayag 4. Vishnu Ganga — Mandakini
Code :

A B C D A B C D
a1l 3 2 4 ® 2 4 3 1
3 2 4 1 d4 1 3 2

UP RO/ARO (Pre) G.S. 2013
UPPCS (Main) G.S. 2016

Ans. (*) The correct match is as follows :-

Devprayag - Bhagirathi and Alakananda

Rudraprayag - Alakananda and Mandakini
(Kali Ganga)

Karnaprayag - Alakananda and Pindar

Nandaprayag - Alakananda and Nandakini

64. Examine the following statements and select the

correct answer from the code given below:

1. Dev Prayag lies at the confluence
Alakananda and Bhagirathi River.

2. Rudra Prayag is situated at the confluence of
Alakananda and Mandakini River.

3. Alakananda River flows from Badrinath.

4. Kedarnath is known as the biggest monastery
established by Adi Shankaracharya.

of

Code :
(a)1,2,3 (b 2,3,4
(c)1,2,4 (d)1,2,3and 4
UP Lower (Pre) G.S. 2002

Ans. (a) The Ganga is the most important river of
India both from the point of view of its basin and
cultural significance. It rises in the Gangotri glacier
near Gaumukh or Gomukh (3,900 m) in the Uttarkashi
district of Uttarakhand. Here, it is known as the
Bhagirathi. At Devprayag, the Bhagirathi meets the
Alakananda; hereafter, it is known as the Ganga. Rudra
Pravyag is situated at the confluence of Alakananda and
Mandakini. The Alakananda flows through Badrinath
which is the largest pilgrimage centre of Hindus in
Uttarakhand.

65. Bhagirathi originates from-
(a) Gomukh (b) Gangotri
(c) Tapovan (d) Vishnu Prayag
Uttarakhand PCS (Pre) G.S. 2006-07

Ans. (a) Kindly refer the explanation of above
question.
66. Name the river which flows between Kedarnath
and Rudra Prayag-
(a) Bhagirathi (b) Alakananda
(c) Saryu (d) Mandakini

MPPSC (Pre) G.S. Ist Paper, 2016

Ans. (d) River Mandakini flows between Kedarnath
and Rudra Prayag.

Yamuna River

67. Which one of the following rivers does not join
river Chambal?

(a) Shipra (b) Kali Sindh
(c) Betwa (d) Parvati
MP PSC (Pre) 2018

Ans. (¢) The Betwa river is the tributary of river
Yamuna, rest three of the given rivers are tributaries of
river Chambal itself.

68.

Which one of the following river valley's is
known for deep ravines?
(a) Narmada
(¢) Chambal

(b) Son
(d) Tapi
MPPCS (PRE) - 2019

Ans. (¢) : The Chambal river valley is noted for deep
ravine land. It is a tributary of the Yamuna River. This
river originates from 'Jana Pav' of Mhow town of
Madhya Pradesh. It has four hydropower projects,
Gandhi Sagar, Rana Sagar, Jawahar Sagar and Kota
Barrage. Chulia waterfall is located in Kota (Rajasthan)
on this river. This river is famous for it badland
topography known as Ravines.
69. Betwa River originate from

(a) Aravalli Hills

(b) Satpura Hills

(¢) Vindhyan Hills

(d) Western Ghats

MPPCS (Pre.) 2020
Ans. (¢): Betwa River originates from Vindhyan Hills,
North of Hoshangabad (Madhya Pradesh). It flows
generally North-East through Madhya Pradesh and
Uttar Pradesh and empties into the Yamuna River east
of Hamirpur.
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70. On which river the three dams for power
generation have been built and its water is used for
irrigation in Rajasthan and Madhya Pradesh?
(a) Betwa (b) Son
(c) Chambal (d) Tapti

MPPSC (Pre) G.S. 1994
Ans. (¢) The Three dam Gandhi Sagar, Rana Pratap
Sagar and Jawahar Sagar on river Chambal are used
for power generation as well as irrigation purpose in
Rajasthan and Madhya Pradesh.

71. The point of origin of Yamuna river is:
(a) Chaukhambha (b) Bandarpunch
(c) Nandadevi (d) Neelkanth
Uttarakhand UDA/LDA (M) G.S. 2007

Ans. (b) The Yamuna, the western most and the
longest tributary of the Ganga, has its source in the
Yamunotri glacier on the western slopes of
Bandarpunch range (6,316 km).

72. Assertion (A): Yamuna becomes a dead river
between Delhi and Agra during most of the year.
Reason (R): Yamuna is a non-perennial river.

Select the correct answer from the codes given

below:

Codes :

(a) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(b) Both (A) and (R) are true and (R) is not the
correct explanation of (A).

(c)

(d)

(A) is true but (R) is false.
(A) is false but (R) is true.
UPPCS (Pre.) G.S. 2015

Ans. (¢) The Yamuna, the western most and the
longest tributary of the Ganga, has its source in the
Yamanotri glacier on the western slopes of
Banderpunch range (6,316 Km). It joins the Ganga at
Prayag (Prayagrai/ Allahabad). Due to excess pollution
{high BOD, poor quantity of Dissolved Oxygen,
industrial discharge of harmful effluents! Yamuna
becomes a dead river between Delhi and Agra during
most of the year. Yamuna is a perennial river. Hence
reason (R) is not correct.

73. Which of the following rivers is an example of the
superimposed drainage?
(a) Alakananda (b) Kosi
(c) Chambal (d) Godawari
UPPCS (Main) G.S. I'* Paper 2007

Ans. (¢) Chambal is an example of superimposed
drainage. A Superimposed River does not adjust with
the structure of its place of origin . It is notable that the
Chambal rises near Mhow in the Malwa plateau of
Madhya Pradesh and flows northwards through a
gorge upwards of Kota in Rajasthan, where the
Gandhisagar dam has been constructed. From Kota, it
traverses down to Bundi, Sawai Madhopur and
Dholpur, and finally joins the Yamuna. The Chambal
is famous for its badland topography called the
Chambal ravines. The length of Chambal is 1040 kms.

74. The Betwa river joins -
(a) Ganga
(c) Brahmaputra

(b) Yamuna
(d) Son
UP RO/ARO (Pre) G.S. 2014

Ans. (b) The Betwa river originates from Vindhyan
mountain range in Raisen district of Madhya Pradesh.
The total length of Betwa is 480 kms. It joins Yamuna
in Hamirpur district of Uttar Pradesh. The other
tributaries of Yamuna are Ken and Chambal.

75.

Consider the following tributaries of River
Yamuna and arrange them from West to East :

1. Betwa

2. Ken

3. Sindh

4. Chambal

Select the correct answer from the codes given
below :

Codes:

(a) 4,3,1and 2
(¢) 3,2,1and 4

(b) 1,2,3 and 4
(d) 2,3,1and 4

UP PCS (Pre) 2020
Ans. (a) : River Chambal joins Yamuna in Jalaun
district of Uttar Pradesh. River Sindh joins Yamuna at
Etawah district of Uttar Pradesh. River Betwa joins
Yamuna in Hamirpur district of UP and Ken joins
Yamuna at Banda district of UP.

Kosi River

Which river is known as Sorrow of Bihar?

(a) Ganga

(b) Kosi

(c) Sone

(d) Ghaghra

(e) None of the above/More than one of the
above

76.

67th BPSC (Re-exam) 2021
Tripura PSC (Pre) 2022

Ans. (b) : Kosi river is known as Sorrow of Bihar,
because it floods Bihar annually, destroying crops,
property and lives. It is loaded with heavy sediments
and very often changes its channels causing
overflowing and flooding.

77. Among the following rivers maximum shifting of
course is done by-
(a) Son River

(c) Kosi River

(b) Gandak River

(d) Ganga River
BPSC(Pre.) G.S. 2000-01
Ans. (c¢) Kindly refer the explanation of above
question.

78. Which of the following rivers is notorious for
change of its course?
(a) Ganga
(c) Damodar

(b) Kosi

(d) Gomti
UP RO/ARO (Pre) G.S. 2013
Ans. (b) Kindly refer the explanation of above
question.

79. Which of the following rivers does not have its
source in glaciers?

(a) Yamuna (b) Alakananda
(c) Kosi (d) Mandakini
Uttarakhand PCS (Pre) G.S. 2006-07
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Ans. (¢) The Yamuna, the western most and the
longest tributary of the Ganga, has its source in the
Yamunotri glacier on the western slopes of
Bandarpunch range (6,316 km). The Alakananda has
its source in the Satopanth glacier above Badrinath.
The Kosi or Sapt Kosi river system drains eastern
Nepal. It is known as Sapt Kosi because of seven
rivers which join together in east-central Nepal to
form this river. Hence river kosi does not have its
source in glaciers. The Mandakini originates from the
Chorabari glacier near Kedarnath in Uttarakhand.

Son River

80. The catchment area of which of the following
rivers is maximum?

(a) Mahananda (b) Son
(c¢) Ramganga (d) Gandak
UPPSC RO/ARO Mains 2017
Ans. (b) Among the given rivers the catchment area of
Son River is largest.
River Catchment area
Son 70, 055 km’
Mahananda 23,700 km?
Ramganga 30635 km®
Gandak 40553 km’
81. Which river flows through fault trough?
(a) Narmada (b) Son
(c) Godavari (d) Kaveri

BPSC(Pre.) G.S. 2000-01

Ans. (a) River Narmada flows through the rift valley
between the Satpura and Vindhya ranges.

82.

Where are the crocodiles and gharials being
conserved?
(a) Narmada and Tapti river
(b) Mahanadi and Tapti river
(c) Wainganga and Pench river
(d) Chambal and Son river
MPPSC (Pre) G.S. 1996

Ans. (d) The rivers Chambal and Son both are known
for the Ghariyal and crocodile population and in these
rivers  both crocodile and Ghariyal are being
conserved under the Project Crocodile which was
launched in the year of 1975.

83.

Which one of the following is the actual source
of the Son river?

(a) Amarkantak in Shahdol district

(b) Son Muda in Shahdol district

(c) Son Bachharwar in Bilaspur district

(d) Mandla plateau

Other Rivers
Consider the following statements:
(1) Ken river passes through Panna Tiger
Reserve
(2) Ken-Betwa link is a road network project
(3) Ken and Betwa are the tributaries of
“

Chambal river
Matatila dam is located over Betwa river

Choose the correct answer from the options

given below:

(a) (2) and (3) only
(c) (1) and (3) only

84.

(b) (1) and (4) only
(d) (2) and (4) only

Himachal PSC (Pre) 2023
Ans.(b): Ken river passes through panna tiger reserve.
Ken and Betwa are tributaries of Yamuna river. Ken
Betwa link is a river link project not road link project.
Matatila dam is located over Betwa river. Thus, only
(1) and (4) statements are correct.
85. The Triveni Canal has been constructed on

which of the following rivers?

(a) Kosi (b) Sone

(c) Gandak (d) Mayurakshi

69th BPSC (Pre) 2023

Ans.(c¢): Construction of Triveni canal started in 1979 it
has been constructed from Gandak river it was
constructed for irrigation purpose in champaran district.
It benefits Nepal, U.P. and Bihar.
86. The other name of river Gandak is

(a) Burhi Gandak (b) Mahananda

(c) Narayani (d) Punpun

69th BPSC (Pre) 2023

Ans.(c): The other name of river Gandak is Narayani It
originates in tibet near Nepal border. It is important river
flowing in Nepal and India. It's total length is 630km.
87. Identify the rivers:

The city marked as 'X' is Prayagraj

R. Mahananda

R. Gomati

R. Punpun

. R. Betwa

The correct match is
A

(a) 1

(b) 1

(c) 2

(d) 2

B

— = NN
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UPPCS (Main) G.S. I* Paper 2007) ___JKPSC (Pre) 2023
- - - - Ans.(d): In the above figure point -
Ans. (a) Son is the right bank tributary of river Ganga. | || A Denotes River Gomati
It cuts Kaimur Range and originates from Satpura|||B Denotes River Mahananda
Ranges near Amarkantak in Shahdol district of |||C Denotes River Punpun
Madhya Pradesh. D Denotes River Betwa
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- Narmada River ||

Consider the following statements :
1. Jhelum River passes through Wular Lake.
2. Krishna River directly feeds Kolleru Lake.
3. Meandering of Gandak River formed

Kanwar Lake.

How many of the statements given above are

correct?

(a) Only one (b) Only two (c) All three (d) None

UPSC IAS (Pre) 2023

92. With which one of the following rivers is the
Omkareshwar Project associated?
(a) Chambal (b) Narmada
(c) Tapi (d) Bhima
LA.S. (Pre) G.S. 2008

Ans. (b) The Omkareshwar hydroelectric Project is
situated near Omkareshwar Temple in Khandwa
district of Madhya Pradesh. This hydroelectric project
is built over Narmada River. The 520 MW
multipurpose  Omkareshwar  Project has been
commissioned in the year 2007.

Ans.(b): The Jhelum river rises from a spring at verinag
situated at the foot of Dir Panjal in the south-eastern
part of valley of Kashmir. It flows through Srinagar and
the Vulular lake before entering Pakistan through a deep
harrow gorge.

The Kolleru lake is fed directly by seasonal Budameru
and Tammilmer Streams. It is connected to the Krishna
and Gotavari systems by over 68 inflowing drains and
channels but not directly Fed.

Kanwar lake in Bihar is residual oxbow take in Bihar
formed due in meandering of Gantak river.

Thus statements 1| & 3 are correct and statement is
incorrect.

89. Arrange the following river basins of India
from lowest to highest in relation to area:

(1) Pennar

(2) Tapi

(3) Kaveri

(4) Narmada

Choose the correct answer from the options

given below:
@ (1,2).0).4) (b 2),0).@.0)
(©) 3), @, (), (1) (d) 4),(2),(1),3)
Himachal PSC (Pre) 2023
Ans.(a): River Basins from lowest to highest basin
areas are
Pennar (55213 sq km)
Tapi (65145 sq km)
Kaveri (81155 sq km)
Narmada (98796 sq km)
90. The river Subarnarekha originates near which
of the following villages?
(a) Ormanjhi
(c) Hehal

(b) Mandar
(d) Nagri
69th BPSC (Pre) 2023
Ans.(d): The river Subarnarekha originates near Nagri
village in Ranchi (Jharkhand) which meets in Bay of
Bengal flowing through Odisha. It's main tributaries are
Radhu, Kanchi and Kharkai.
91. The place of origin of Narmada river is-
(a) Multai (b) Amarkantak
(c) Mau (d) Devas
Jharkhand PSC (Pre) G.S. 2003)
Ans. (b) Narmada River originates on the western
flank of the Amarkantak Plateau at a height of about
1057m.It flows through the rift valleys between the

Satpura in south and Vindhya Range in the north. It
falls into Arabian Sea at Gulf of Khambat.

93. Which of these west flowing rivers flow between
two mountain ranges?

(a) Sharavati (b) Narmada
(c) Mahi (d) Sabarmati
UPPCS (Pre) GS, 2012

Ans. (b) The Narmada originates on the western flank
of the Amarkantak plateau. Flowing in a rift valley
between the Satpura in the south and the Vindhyan
range in the north. Narmada and Tapi both river flows
in a rift valley.

94. Which of the following rivers flow through a
rift valley?

(a) Ganga (b) Brahmaputra
(c) Narmada (d) Krishna
UPPCS (Pre) GS, 2010

‘ Ans. (c) Kindly refer the explanation of above question.
95. Which is located in between Narmada and Tapti

rivers?
(a) Vindhyan Mountains (b) Satpura Ranges
(c) Rajmahal Hills (d) Aravalli Hills
UPPCS (Pre) G.S. 2007

‘ Ans. (b) Kindly refer the explanation of above question. ‘

96. Which of the following rivers does not form
delta?
(a) Ganga (b) Subarnarekha
(c) Narmada (d) Tapti

MPPSC (Pre) G.S. Ist Paper 2013

Ans. (c&d) Narmada and Tapti both are west-flowing
rivers. They flow through a rift valley of igneous rocks
so they are not able to collect much sediments. Hence,
both the Narmada and Tapti form estuaries instead of
Delta. Hence both options (c) & (d) are correct.
97. Which one of the following ranges forms the

water divide between Narmada and Tapti

(a) Satpura (b) Aravalli

(¢) Vindhyan (d) Kaimur

(Haryana PSC Pre 2014)

‘ Ans. (a) Kindly refer the explanation of above question. ‘

98.

Which of the following pair of Indian rivers
flow through the rift valley?
(a) Saryu and Gandak
(b) Kaveri and Godavari
(c) Narmada and Tapi
(d) Ganga and Kosi
UPPSC ACF Paper-1 Mains 2021

|Ans. (¢): Kindly refer the explanation of above question.
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99. Which of the following rivers of India does
NOT originate from the Western Ghats?

(a) Godavari (b) Tapti/Tapi

(c) Kaveri (d) Kabam

UPPCS(Pre)2018
‘ Ans. (b) Kindly refer the explanation of above question. ‘

100. The Narmada river flows to the west, while
most other large peninsular rivers flow to the
east. Why?

1. It occupies a linear rift valley.

2. It flows between the Vindhyas and the
Satpuras.

3. The land slopes to the west from Central India.

Select the correct answer using the codes given

below.
(a) 1 only (b)2and 3
(c)land 3 (d) None

(IAS (Pre) I Paper G.S. 2013)

Ans. (a) Narmada flows through rift valley and drains
in Gulf of Khambat. It flows between the Vindhyas &
Satpura range. The land slopes towards East from
Central India. Thus, maximum river flows towards
East. However Narmada and Tapi flows towards West
as they occupies rift valley.

101.

Which of the following characteristic feature is
appropriate for Narmada River?
(a) Wind origin
(b) Structural origin
(c) Glacial origin
(d) Volcanic Origin

JPSC (Pre) 2021 Paper -1
Ans. (b): Narmada river rises on the western flanks of|
the Amarkantak plateau and flows through the structural
trough between the Vindhyan and the Satpura Ranges.
Hence it has a structural origin. Other rivers which have
structural origin are Tapi, Mahanadi, Krishna, Kaveri,
Godavari, etc. Ganga, Yamuna, Indus, and Brahmputra
etc have the feature of glacial origin because they
originate from glaciers.

102. Which one of the following rivers does not forms
delta?
(a) Mahanadi

(c) Narmada

(b) Godavari
(d) Kaveri
Chhattisgarh PSC (Pre) G.S. 2010-11

Ans. (¢) The Narmada originates on the western flank
of the Amarkantak plateau of Maikal range at a height
of about 1,057 m. Flowing in a rift valley between the
Satpura in the south and the Vindhyan range in the
north, After flowing a distance of about 1,312 km, it
meets the Arabian sea forming estuary not delta.
Hence in the given option river Narmada forms estuary
and rest of rivers forms delta.

103.Which of the following dams is not associated
with Narmada river?
(a) Maheshwar
(c) Bargi

(b) Indira Sagar
(d) Gandhi Sagar
MPPSC (Pre) G.S. 2003-04

Ans. (d) The Gandhi Sagar Dam is built on Chambal
River not on Narmada river . The dam is located in the
Mandsaur district of the State Madhya Pradesh. The
Indira Sagar dam is being built on the Narmada river
approx 10 km. from Punasa village in Khandwa
district in Western Madhya Pradesh. Bargi Dam is one
of the first completed dams out of the chain of 30
major dams to be constructed on Narmada River in
Madhva Pradesh, India. The Maheshwar dam is one of
the large dams of the Narmada Valley Development
Project, which entails the construction of 30 large and
135 smaller dams on the Narmada river.

In the given option Gandhi Sagar dam is built on river
Chambal while the Maheshwar, Indira Sagar and Bargi
dam is located on river Narmada.

|Ii Tapti River |

104. Which of the following river does not originate
from Maikal ranges?

(a) Narmada (b) Tapi
(c) Son (d) Mahanadi
UPPCS (Pre) G.S. 2003

Ans. (b) From Maikal range many rivers originate,
Narmada originates from the Western flank, Son
originates from the north East direction and Mahanadi
originates from the south east direction. While Tapi
originates from Multai reserve forest in Satpura Range.

105. The origin and end of Tapti river is-
(a) Amarkantak and Arabian Sea
(b) Betul and Gulf of Khambhat
(c) Vindhya and Bay of Bengal
(d) Vindhya and Arabian Sea
MPPSC (Pre) G.S. 1992
Ans. (b) River Tapti originates from Multai at the

Betul plateau,in Madhya Pradesh and flows westward
and falls into the Arabian sea.

106. Consider the following statements-

Assertion: While all major rivers of peninsular

India flow into the Bay of Bengal, the Narmada

and the Tapi flow into Arabian Sea.

Reason: These rivers are rift-generated.

Select the correct answer from the code given

below:

Code :

(a) A and R both are correct and R is the correct
explanation of A.

(b) A and R both are correct and R is not the
correct explanation of A.

(c) A s true but R is false.

(d) A is false but R is true.

UPPCS (Pre.) G.S. 1999

Ans. (a) All major rivers like Godavari, Krishna,
Kaveri, Mahanadi of peninsular India flow into the
Bay of Bengal and Rivers like the Narmada and the
Tapi flow into Arabian Sea this is because these rivers
flows in rift valley.
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107. Which one amongst the following rivers flows
through a rift valley?
(a) Krishna
(c) Tapi

(b) Godavari

(d) Kaveri
UP RO/ARO (Pre) G.S. 2013
Ans. (¢) The Tapi rises in the Satpura ranges, in the
Betul district of Madhya Pradesh. It flows in a rift
valley parallel to the Narmada. The Narmada and the
Tapi are the only long rivers, which flow west and
make estuaries.

108. Which of the following rivers of India does not
make the delta?
(a) Ganga
(c) Mahanadi

(b) Tapi

(d) Cauvery
Mizoram PCS (Pre) 2015 Paper-I
Ans. (b): Kindly refer the explanation of above
question.

Mahanadi ||

109. Which one amongst the following rivers flows
through a rift valley?
(a) Tapi
(c) Krishna

(b) Mahanadi
(d) Tungabhadra
UPPSC (J) 2023

Ans.(a): Tapi river flows from rift valley Narmada and

Damodar are other rivers which flows from rift valley

Tapi river is second largest west flowing river it

originates near Multai reserve forest in Betul district of|

Madhya Pradesh.

110. Which of the following rivers of India does not
originates from Western Ghat?

(a) Krishna (b) Mahanadi
(c) Godavari (d) Vaigai
UPPSC ACF Exam. 2013

Ans. (b) : The river Mahanadi originates from Sihawa
plateau (Amarkantak) in Chhattisgarh and does not
originates from Western Ghat while rest of all rivers
originates from Western Ghat.

River Source
Krishna Mahabaleshwar (Western Ghats)
Godavari Trimbak (Western Ghats)
Vaigai Varushanada Hills Western Tamil
Nadu (Western Chats)
111. Which of the following rivers do not form
estuary?

(a) Narmada
(c) Mandovi

(b) Tapti

(d) Mahanadi
Jharkhand PSC (Pre) G.S. 2003)
Ans. (d) Mahanadi is an eastern flowing river which
drains into Bay of Bengal and forms delta. While
Narmada, Tapi, Mandovi are western flowing river and
form estuary.

112. The tributary of Shivanath river is-

(a) Jamunia (b) Borai
(c) Tesua (d) Khorasi
(e) Kolhan

Chhattisgarh PSC (Pre) G.S. Ist 2014

Ans. (a) Shivanath/Sheonath is the longest tributary of
river Mahanadi. Some of its major tributaries are —

Hamp, Agar, Jamunia, Maniyari and Kharun.

113. The river which is different from all other is-
(a) Narmada (b) Sindhu
(c) Tapti (d) Mahanadi
RAS/RTS (Pre) G.S. 1999

Ans. (d) Mahanadi flows towards Bay of Bengal while
other three rivers flow towards Arabian Sea.

114. Which among the following river does not fall

into Bay of Bengal?
(a) Mahanadi (b) Krishna
(c) Tapti (d) Godavari

Uttarakhand PCS (Pre) G.S. 2006-07

Ans. (¢) Rivers Mahanadi, Krishna and Godavari flow
eastwards and fall into Bay of Bengal while river Tapi
flows westwards in a rift valley and falls into Arabian
sea at Gulf of Khambat.

115. Which river forms its delta in Odisha?
(a) Godavari (b) Mahanadi
(c) Narmada (d) Tapti
UP RO/ARO (Pre) G.S. 2014
Ans. (b) River Mahanadi originates in Chhattisgarh,
flows eastwards and drains into Bay of Bengal. It
forms delta in Odisha.

116. In the period of Mahabharat, the name of
Mahanadi was-
(a) Kaveri
(c) Mahananda
(e) None of these
Chhattisgarh PSC (Pre) G.S. 2016

Ans. (¢) During the Mahabharat Period the River
Mahanadi was known as River Mahananda its source
of origin is Sihawa range in Chhattisgarh. Presently, it
is one of the major river in the states of Odisha and
Chhattisgarh. It was also called Nilotpala and
Chitrotpala in that period.

117. River Tel is a tributary of which of the following

(b) Tapti
(d) Ganga

rivers?

(a) Bagmati (b) Ghaghara

(c) Gandak (d) Kamla

(e) None of the above/More than one of the above
BPSC (Pre) G.S. 2016

Ans. (e) Tel is an important tributary of Mahanadi. It
flows in state of Odisha.

118. Which one of the following river basin is the
largest in area?
(a) Kaveri
(c) Narmada

(b) Mahanadi

(d) Tapti
UPPSC RO ARO (Mains) 2021

UPPCS Pre 2022

Ans. (b): Among the given river basins Mahanadi Basin
is the largest river basin. The total catchment area of
Mahanadi basin is about 1,41,589 km?. The Kaveri
basin has a drainage area of 81,155 Sq.km. The
Narmada drains an area of 98,796 sq km. and The Tapi
Basin extends over an area of 65,145 sq.km.
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119. As per the Vayu Puran, what is the

mythological name of Mahanadi river?

(a) Chitrotpala (b) Nilotpala

(c) Kanak Nandini (d) Mahananda
CGPSC Pre 2022

Ans. (b) : In Vayu Puran river Mahanadi was stated as
Nilotpala. In Matsya Purana river Mahanadi was stated
as Chitrotpala.

Godavari Basin ||

Ans. (¢) The river basins of the rivers given in the
options are as follows (in decreasing order):-
Godavari 3,12,812 sq.km.
Krishna 2,58,948 sq. km.
Mahanadi 1,41,589 sq. km.
Narmada 98,796 sq. km.
124. The second largest river basin of India is-
(a) Mahanadi basin (b) Narmada basin
(c) Godavari basin (d) Kaveri basin
MP PSC (Pre) 2018

120. As compared to the Godavari and Krishna
rivers, the course of the Kaveri river receives
large volume of water during winter, because.
(a) The course of the river Kaveri receives heavy

rainfall from the South-West monsoons.

(b) The course of the river Kaveri receives heavy
rainfall from North-East monsoon.

(c) The course of the river Kaveri receives
rainfall from both South-West and North-East
monsoons.

(d) The tributaries of the Kaveri provide large
volume of water to the course.

MH PSC (Pre) 2023

Ans.(c): As compared to Godavari and Krishna river,

the course of Kaveri river receives large volume of

water during winter because the course of the river

Kaveri receives rainfall from both south west and north

east monsoon.

121. Select the left bank tributary of the river
Godavari.
(a) The Penganga (b) The Bhima
(c) The Tel (d) The Hemavati

Tripura PSC (Pre) 2022

Ans.(a): Penganga river is the left bank tributary of the
river Godavari. Dharna, Wainganga, Wardha Pranhita,
Pench, Kanhan, Sabri, Indravati are other left bank
tributaries of Godavari. Right Bank tributaries of]
Godavari are Pravara, Mula, Manjra, Peddavagu,
Maner. Godavari river originates from a place called
'Trimbak’ located in the western Ghats in Nasik district
of Maharashtra.
122. Chanaka-Korata villages are on the bank of

(a) Penganga river (b) Godavari river

(c) Pranahita river (d) Maneru river

TSPSC Group II Pre 11.11.2016 Paper-I

Ans. (a) : Chanaka-Korata Barrage is an inter-state
barrage on Penganga river. The irrigation project started
jointly by the Government of Telangana and
Government of Maharashtra in March 2016.
It will irrigate agriculture land in the states of Telangana
and Maharashtra.

123.Catchment area of which of the following river is

maximum?
(a) Krishna (b) Narmada
(c) Godawari (d) Mahanadi

UPPSC (Pre) Opt. Geog. 2009, 2010

Ans. (c) The river Godawari has 2™ largest basin after
rivers Ganga.

125.Machkund and Indravati rivers originate from—
(a) Mahendragiri (b) Amarkantak
(c) Nilgiri (d) Dhupgarh
RAS/RTS (Pre) Opt. Geog. 2009-10
Ans. (a) Machkund and Indravati rivers are the
tributaries of the largest peninsular river Godavari,they
originate from the Mahendragiri Hills and join the

Godavari river at village Bhadrakali in Bijapur district
of Chhattisgarh.

126. Sabari is a tributary river of :

(a) Pamba (b) Godavari

(c) Narmada (d) Mahanadi

Nagaland NCS Prelims-2019

Ans. (b): Sabari River is one of the main tributaries of|
Godavari. It originates from the western slopes of]
Eastern Ghats in Odisha state from Sinkaram hill
ranges. It forms common boundary between
Chhattisgarh and Odisha states and later enters into
Andhra Pradesh to merge with river Godavari.
127. Which one of the following is the longest river

of the Peninsular India?

(a) Narmada

(¢) Krishna

(b) Godavari
(d) Mahanadi

J&K PSC (Pre.) 2018
Ans. (b) : Godavari is the longest river of Peninsular
India. It originates near Trimbak at Nasik in the western
area of Maharashtra and flows through the state of
Andhra Pradesh and Telangana before draining into the
Bay of Bengal. Godavari is also known as 'Dakshin
Ganga' or 'Vriddh (old) Ganga' and is the second largest
river in India after Ganges.

128. The longest peninsular river of India is-

(a) Narmada (b) Godavari
(c) Mahanadi (d) Krishna
UP RO/ARO (M) G.S. 2014

‘ Ans. (b) Kindly refer the explanation of above question. ‘

129. Which river of India is called Vridha Ganga?
(a) Krishna (b) Godavari
(c) Kaveri (d) Narmada
(Haryana PSC Pre 2014)
‘ Ans. (b) Kindly refer the explanation of above question. ‘

130.Which is the longest river in the Peninsular

India?
(a) Krishna (b) Narmada
(¢) Godavari (d) Mahanadi

Uttarakhand PCS (Pre) G.S. 2016
‘ Ans. (¢) Kindly refer the explanation of above question.
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131. Which of these is not a tributary of River
Godavari:
(a) Pravara (b) Koyna
(c) Purna (d) Manair

TS PSC Group-I & 11 Pre 2017
Ans. (b): The principal tributaries of the river Godavari
are—

e Left hand tributaries: Penganga, Kadva, Shivana, Purna,
Kadam, Pramabhita, Indravati, Taliperu, Sabari.

e Right hand tributaries: Nasardi, Pravara, Sindphana,
Manjira, Manair, Kinnerasani.
While the Koyna river is the tributary of river Krishna.
132. Pravara is one of the tributaries of
(a) Godavari River (b) Krishna River
(c) Cauvery River (d) Sthapathi River
TSPSC Group II Pre 11.11.2016 Paper-I
: Kindly refer the explanation of above

Ans. (a)
question.
133. Which is the largest tributary of the Godavari

in terms of coverage of drainage area?

(a) Sabari (b) Pranhita

(c) Indravati (d) Manjira

APPSC GROUP-I (7-5-2017)

Ans. (b) : The Pranhita River is the largest tributary of
the Godavari River, occupying 34% of its drainage
basin, which carriers the combined waters of the
Penganga River, Wardha River and the Wainganga
River.
The river flows through the entire Vidarbha region in
Maharashtra as well as the southern slopes of the

Chitrakote waterfall, about 35 miles west from
Jagdalpur. The tributaries of Indravati include
Boarding, Narangi, Kotri, Gudra, Nimbra (Parlkota),
Dankini, Shankini, Raikera, Raoghat, Kenda, Khandi,
Chargaon etc.

136. Pattiseema Project is associated with the

integration of which of the following rivers?

(a) Krishna and Kaveri

(b) Krishna and Godavari

(¢) Godavari and Mahanadi

(d) Ganga and Brahmaputra

(e) None of the above/More than one of the

above
67" BPSC Pre Exam- 2022 (08.05.2022)

Ans. (b): Pattiseema lift Irrigation project is a river
interlinking project which connects Godavari river and
Krishna river.
137. Which one of the following mangrove areas is

situated in the delta region of Godavari river?

(a) Coondapoor (b) Honnavar

(c) Malpe (d) Coringa

UPPSC RO ARO (Mains) 2021

Ans. (d): Coringa mangrove area is located on the delta
of the Godavari River, it is the second largest mangrove
area in India after the Sundarban Forest.

Krishna Basin ||

138. Catchment area of which of the following river
is maximum?

Satpura range. (a) Kaveri . (b) Krishna
134.Consider the following rivers: (c) Mahanadi (d) Narmada
1. Vamsadhara 2. Indravati Ans. (b) According to Central water commission -
3. Pranhita 4. Pennar River Catchment Area (in kms®)
Which of the above are tributaries of Godavari? Narmada 98796
(a) 1,2 and 3 (b) 2,3 and 4 Mahanadi 141589
(¢)1,2and 4 (d) 2 and 3 only Kaveri 81155
(IAS (Pre) I* Paper G.S., 2015) Krishna 258948
Ans. (d) Vamsadhara and Pranhita are not the||139. Hagari is a tributary of :
tributaries of Godavari river. Vamsadhara is an east (a) Bhima (b) Godavari
flowing river which originates in Kalahandi district of (¢) Krishna (d) Tungbhadra

Odisha and finally joins the Bay of Bengal in Andhra
Pradesh. Pennar river rises from Chenna Kesava hills
of the Nandi range of Karnataka and flows for about
597 km. and empty into the Bay of Bengal in Andhra
Pradesh.

135. Tributaries of Indravati are-

(a) Boarding, Narangi, Kotri, Gudra

(b) Sabari, Bording, Narangi , Malegar

(c) Kanger, Malegar, Kotri, Gudra

(d) Dankini, Shanshini, Sabri, Kotri

(e) Narangi, Sabri, Kotri, Malegar

Chhattisgarh PSC (Pre) Ist G.S., 2013

Ans. (a) The Indravati river is the main tributary of the
Godavari river and the largest river in Bastar district of
Chhattisgarh. Its origin is in the Kalahandi plateau of
Orissa. After completing a distance of about 370km in
Bastar, and flowing from east to west, it joins the
Godavari river. This river creates the spectacular

UPPCS (Main) G.S. I* Paper 2009

Ans. (d) River Hagari also known as Vedavathi
originates from the Bababudanagiri Mountains
of Western Ghats and flows through the states of
Karnataka and Andhra Pradesh. It is a tributary of
river Tungabhadra.

140. Which of the following South Indian rivers is
not correctly matched with its tributary?

River Tributary
(a) Mahanadi — Seonath
(b) Godavari — Varna
(c) Krishna — Bhima
(d) Cauvery — Suvarnavati

Karnataka PSC 2020
Ans. (b) : Varna river is a tributary of the river Krishna
not Godavari, Hence except option (b) rest are correctly
matched.
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141. Which one of the following is not a tributary of
Krishna river?
(a) Bhima (b) Doni
(c) Tel (d) Tungbhadra

UP UDA/LDA (Pre) Spl. G.S. 2010

Ans. (¢) River Krishna is the second largest east flowing
peninsular river which rises near Mahabaleshwar in
Western Ghats. Its total length is 1,401 km. Koyna,
Tungbhadra Panchganga, Dudhganga, Ghataprabha,
Malprabha, Musi and the Bhima are its major tributaries.
Nagarjun Sagar Project is built on river Krishna.

142. Read the following statements in context to
Krishna river and select the correct answer
from the codes given below—

I.  Kirishna is the largest peninsular river flowing
towards the east

II. Maharashtra, Karnataka and Andhra Pradesh
are the participants of its basin area.

III. Poorna is a tributary of Krishna river

IV. Nagarjuna Sagar is a multipurpose project on
Krishna river.

Codes :

(I &Il (b) II & 111

) I1&1V (DHII&IV

UPPCS (Pre) Opt. Geog. 2008

Ans. (d) Kindly refer the explanation of above
question.

143. Tungabhadra and Bhima are the tributaries

Ans. (¢) : The Cauvery River water dispute is
between Karnataka, Kerala, Tamil Nadu and
Puducherry. But this water dispute is mainly related to
Karnataka and Tamil Nadu.

India's major inter-state water dispute

Godavari water Andhra Pradesh, Karnataka,

dispute MP, Odisha and Maharashtra
Krishna river water | Andhra Pradesh, Karnataka,
dispute Mabharashtra

Narmada River
water dispute

Madhya Pradesh, Gujarat,
Rajasthan and Maharashtra

Ravi-Vyas water Punjab, Haryana, Rajasthan

dispute
Narori water dispute | Odisha and Andhra Pradesh
Mandvi / Mahadayi | Goa, Karnataka and

Mabharashtra

146. Which one of the following rivers thrice forks into
two streams and reunites a few miles farther on,
thus forming the islands of Srirangappattanam,
Sivasamudram and Srirangam?

(a) Cauvery (b) Tungabhadra
(c¢) Krishna (d) Godavari
(IAS (Pre) G.S. 1996)

Ans. (a) Cauvery river forks thrice into two streams
and reunites a few miles further, thus forming the
islands of Srirangappattanam, Sivasamudram and
Srirangam. Cauvery is joined by Lakshmantirtha,
Kabani, Bhawani and Amravati on the right bank and
Herangi, Hemavati, Shimsha, and Arkavati on left

of— bank. It cuts a gorge in the Eastern Ghats and form the
(a) Kaveri (b) Godawari Spectacular Shivasamudra falls.
(c) Mahanadi (d) Krishna 147. Which of the following rivers is called as ‘Ganga
UPPCS (Pre) Opt. Geog. 2010 ‘()f)SIguth’.? (o) Krish
: - a) Kaveri ishna
31:1;5}1 0(:11,) Kindly refer the explanation of above (c) Godavari (d) Narmada
UPPCS (Pre.) G.S. 2015

Cuavery River ||

Its upper catchment receives rainfall during
summer by the south-west monsoon and the
lower catchment during winter season by the
retreating north-east monsoon

(a) The Mahanadi River

(b) The Godavari River

(¢) The Krishna River

(d) The Cauvery River

Tripura PSC- 2019
Ans. (d) : The Cauveri river has a unique locational
advantage and because of that its upper catchment area
receives rainfall during summer by the southwest
monsoon and the lower catchment area during the
winter season by the retreating north-east monsoon.
145. Kaveri water dispute is—
(a) Between Andhra Pradesh and Tamil Nadu
(b) Between Andhra Pradesh and Karnataka
(c) Between Karnataka and Tamil Nadu
(d) Between Tamilnadu and Puducherry
BPSC (Pre) G.S. 1997-98

‘ Ans. (a) River Kaveri is called as the Ganga of South. ‘

148. Which is the most exploited river in India in
terms of abstraction of available water?
(a) Godavari (b) Cauvery
(¢) Krishna (d) Ganga
TS PSC Group-I & 11 Pre 2017
Ans. (b): The Cauvery River is one of the perennial
rivers in Southern India. It rises on Brahmagiri hill of the
Western Ghats in South-Western Karnataka and falls in the
Bay of Bengal. Cauvery is India’s most exploited river in
terms use of available water.
149. Which of the following rivers is not the
tributary of the Cauvery river?
(a) Hemavathi (b) Shimsha
(c) Amaravathi (d) Indravati
TSPSC Group II Pre 11.11.2016 Paper-I
Ans. (d) : Tributary of river Cauvery are- Amaravati,
Arkavati, Bhavani, Chinnar, Hemavati, Honnuhole,
Kabini, Lakshmanatirtha Suvanavati Lokapavani,
Pambar, Shimsha, Sujyothi.
The river Indravati is a tributary of the Godavari River
not of Cauvery.
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Other Rivers ||

150. Which one of the following (Tributary-River) is
not correctly matched?
(a) Malaprabha—Krishna
(b) Hemavathi—Kaveri
(c) Manjra—Godavari
(d) Pranhita—Mahanadi
UPPCS (Pre) 2023
Ans.(d): The correct match is as follows—
Tributaries River
Malaprabha - Krishna
Hemavathi - Kavery
Manjra - Godavari
Pranhita - Godavari
151. Match the pairs of chief rivers of their place of
origin—
List-I List-I1
(Rivers) (Place of origin)
A. |Yamuna 1. |Sihawa
B. |[Krishna 2. |Nasik
C. |Godavari 3. |Mahabaleshwar
D. [Mahanadi 4. |Yamunotri
Code
A B C D A B CD
@4 2 3 1 4 2 1 3
04 3 2 1 @1 2 3 4
UPPCS (Pre) 2023
Ans.(c): The correct match is as follows :-
Rivers Place of Origin
Yamuna Yamunotri
Krishna Mahabaleshwar
Godavari Nasik
Mahanadi Sihawa

152. Observe the following statements :
(A) Mountain located between Pravara and
Kukadi river is Harishchandra mountain.
(B) River Manjira flows on Balaghat Plateau.
(C) Satmala and Ajantha mountain ranges are
between Tapi and Godavari river valleys.
(a) Statement (A) and (B) are correct
(b) Statements (B) and (C) are correct
(c) Statements (A) and (C) are correct
(d) All the above statements are correct
Maharashtra PSC 2022
Ans. (d) : Harishchandra Mountain is located between
Pravara and Kukadi river.
Hence, statement (A) is correct.
Manjira is a tributary of Gadavari River, which
originates from the Balaghat hills. Hence, statement (B)
is also correct.
Between Tapi and Godavari river valleys, Satmala and
Ajanta Mountain ranges are located. Hence statements
(C) is also correct.

153. Match the following:
River Source
A. Penganga I. Gomantak Peak
B. Krishna II. Budhana range

C. Tungabhadra III. Brahmagiri

D. Cauvery IV. Mahabaleshwar
A B C D

(a Iv 1 I m

(b) O v 1 I

(c) I v 1

(d 11 m I v

MPSC 2017

Ans. (b) The correct match is as follows -
River Source
Penganga Budhana range
Krishna Mahabaleshwar
Tungabhadra Gomantak Peak
Cauvery Brahmgiri

154. The rivers Damodar, Koel and Subarnarekha

originate from which of the following?

(a) Deccan Plateau

(b) Central Highland

(c) Chota Nagpur Plateau

(d) Meghalaya Plateau

(e) None of the above/More than one of the above

67" BPSC Pre Exam- 2022 (08.05.2022)

Ans. (c¢): Damodar, Koel and Subarnarekha rivers
originate from Chotanagapur Plateau.

155. Consider the following pairs—

Rivers Merges with

1. Parbati : Beas

2. Chandra : Sutlej

3. Pindar Alakananda

4. Tons Bhagirathi

Which of the above pair is/are correctly
matched?

(a) Only 1 &2 (b) Only3

(c) Only 1 &3 (d 1,2,3&4

(I.A.S. (Pre) Opt. Geog. 2006)

Ans. (b) : The correct pairs are as follows -
Rivers Merges with
Parbati Chambal
Chandra Chenab (confluence of
Chandra and Bhaga)
Pindar Alakananda
Tons ;' Yamuna
156. Which among the following pair is not correctly
matched?
List-1 List-11
(Tributaries) (Rivers)
(a) Kinnerasani 1. Godavari
(b) Amaravati 2. Krishna
(c) Malprabha 3. Krishna
(d) Pranhita 4. Godavari
IAS (Pre) Opt. Geog. 2007
Ans. (b) Tributaries of Godavari are -Dharna,
Penganga, Wainganga, Wardha, Pranhita, Pench,

Kanhan, Sabari, Indravati, Kinnarsani, Manjra etc.
While Amaravati is the largest tributary of Kaveri
River, Malprabha is a tributary of Krishna river.
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157. A wide stream where river and sea water merge
with each other-
(a) Delta
(c) Port

(b) Estuary
(d) Strait
RAS/RTS (Pre) Opt. Geog. 2008

Ans. (b) Anestuaryis a partially enclosed coastal body
of brackish water with one or more rivers or streams
flowing into it, and with a free connection to the open sea.
Estuaries form a transition zone between river environment
and maritime environment known as ecotone.

158. Which of the following pairs is correctly matched?
(a) Ganga-Banas (b) Godavari-Bhima
(c) Krishna-Indravati  (d) Mahanadi-Tel
UPPCS (Pre) Opt. Geog. 2006

Ans. (d)
Ganea 1. Gomti 2. Ghaghra 3. Gandak 4.
& Kosi 5. Yamuna 6. Son 7. Ramganga

Yamuna 1. Chambal 2. Sindh 3. Betwa 4. Ken
5. Tons 6. Hindon

Godavari 1. Indravati 2. Manjira 3. Bindusara
4. Sarbari 5. Penganga 6.Pranahita
1. Tungabhadra 2. Ghataprabha 3.

Krishna Malaprabha 4. Bhima 5. Vedavati 6.
Koyna

Mahanadi 1. Seonath 2. Hasdeo 3. Jonk 4. Mand
5.1b 6. Ong 7. Tel
1. Banas 2. Kali Sindh 3. Kshipra 4.

Chambal Parbati 5. Mej

159. Match the list I with List II and select the correct
answer using the code given below the lists—

List-I List-I1

A. Salal Dam 1. Krishna

B. Thein Dam 2. Chenab

C. Kakrapar Dam 3. Ravi

D. Nagarjuna Sagar 4. Tapi

Code:

A B C D A B C D
@1 2 3 4 ® 2 3 4 1
)3 2 4 1 d4 3 2 1
UPPCS (Pre) Opt. Geog. 2009

Ans. (b) : The correct match is as follows :-
Dam River
Salal Dam Chenab
Thein Dam (Ranjeet Sagar dam) Ravi
Kakrapar Dam Tapi
Nagarjuna Sagar Krishna

160. The flow of rivers in Deccan plateau is-
(a) West to East (b) North to East
(c) Eastto West (d) North to West
UPPSC ACF Exam. 2013

Ans. (a) The average elevation of the Deccan plateau
is about 1000m sloping generally eastward. Therefore
the flow of river in Deccan Plateau is west to east
except for Narmada & Tapi as they flow east to west
because they flow in the rift valley.

161. Which of the following drainage systems fall into

Bay of Bengal?

(a) Ganga, Brahmaputra and Godavari

(b) Mahanadi, Krishna and Kaveri

(c¢) Luni, Narmada and Tapti

(d) Both (a) and (b)

BPSC (Pre) G.S. 2015

Ans. (d) Ganga, Brahmaputra and Godavari, Mahanadi,
Krishna and Kaveri fall into the Bay of Bengal while
Narmada and Tapti flows westwards following the course
of the rift valley and fall into Arabian Sea at Gulf of
Khambat. River luni flows in Rajasthan and disappears in
the marshes of Rann of Kutch.

162. Son, Narmada and Mahanadi originate from-
(a) Palamu mountain (b) Amarkantak
(c) Eastern Ghat (d) Aravalli
BPSC(Pre.) G.S. 2000-01

Ans. (b) From Amarkantak hills many rivers originate,
Narmada originates from the Western flank, Son
originates from the north East direction, and Mahanadi
originates from the south east direction of Amarkantak.

163. Which of the following is a land bound river?
(a) Tapti (b) Krishna
(c) Luni (d) Narmada
BPSC (Pre) G.S. 1995

Ans. (¢) River Luni is a land bound river. Luni River
flows in State of Rajasthan. Rising on the western
slopes of the Aravalli Range near Ajmer, where it is
known as the Sagarmati, the river flows generally
southwestward through the hills and across the plains
of the region. It then enters a patch of desert before it
finally dissipates into the wastes of the northeastern
part of the marsh called the Rann of Kachchh (Kutch)
in Gujarat state.

164. The source of origin of river near Mansarovar
lake in Tibet, it is-
(a) Brahmaputra
(¢) Sindhu

(b) Sutlej
(d) All of the above
BPSC (Pre) G.S. 1994

Ans. (d) : The rivers with their source of origin are as
follows :-

River Source of origin
Brahmaputra :  Angsi Glacier, Mansarovar
Sutlej Rakshastal near Mansarovar
Indus Sengge Zangbo, Tibetan Plateau

near Mansarovar

165. Read the following statements and select the
correct answer:
Statement (A): Rivers flowing from Himalayas are
perennial rivers.
Reason (R): Source of Himalayan rivers is located
in glaciers.
(a) (A) and (R) both are correct and (R) supports
(A).
(b) (A) and (R) both are correct and (R) does not
supports (A).
(c) (A) is correct and (R) is wrong.
(d) (A) is wrong and (R) is correct.
RAS/RTS (Pre) G.S., 2015
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Ans. (a) Rivers flow from Himalayas are perennial
rivers, which means that they flow throughout the year,
since they are not dependent on the seasonal rainfall

and their source lies in the glaciers.

166. Match list-I with list-II and select the correct

answer from the code given below the list-

List-I List-IT

(Rivers) (Their tributaries)
a. Krishna 1. Chambal

b. Brahmaputra 2. Indravati

c. Godavari 3. Teesta

d. Yamuna 4. Bhima

Codes :

(a) a-4 b-3 ¢-2 d-1 (b) a-3 b-4 c-1 d-2
(c) a-4 b3 ¢c-1 d-2 (d) a-3 b-4 c-2 d-1
Jharkhand PSC (Pre.) G.S. I*', 2013

Ans. (a) : The correct match is as follows :-
(Rivers) (Their tributaries)
Krishna Bhima

Brahmaputra Teesta

Godavari Indravati

Yamuna Chambal

167. Assertion (A): All the major rivers of peninsular
India fall into Bay of Bengal but Narmada and
Tapti fall into Arabian sea.

Reason (R): Narmada and Tapti river flows
through rift valley.
Select the correct answer with the help of code
given below:
Code :
(a) Both (A) and (R) are correct and (R) is the
correct explanation of (A).
(b) Both (A) and (R) are correct, but (R) is not the
correct explanation of (A).
(¢) (A)is true, but (R) is false.
(d) (A)is false, but (R) is true.
UPPCS (Main) G.S. 2002)

Ans. (a) Most of the major rivers of the peninsula such
as the Mahanadi, the Godavari, the Krishna and the
Cauvery flow eastwards and drain into the Bay of
Bengal. But Narmada & Tapi flow westwards as these
does not form valleys and instead flow through faults
created due to the bending of northern peninsula
during the formation of Himalayas.

168. Sankosh river forms boundary between
(a) Bihar and West Bengal
(b) Assam and Arunachal Pradesh
(c) Assam and West Bengal
(d) Bihar and Jharkhand
UPPCS (Main) G.S. I* Paper 2007

Ans. (¢) River Sankosh forms the boundary between
Assam and West Bengal. Sankosh is the right bank
tributary of Brahmaputra river. It is a trans boundary
river and it flows through Bhutan, India and
Bangladesh. It flows through the region bordering the
district of Jalpaigudi in West Bengal and the districts
of Dhubri and Kokrajhar in Assam.

169. Match List-I with List-II and Select the correct
answer using code given below the list-
List-I (River) List-II (Tributary)

A. Ganga 1. Bhima

B. Godavari 2. Ken

C. Krishna 3. Manjra/Manjira
D. Yamuna 4. Son

Code :

ABCD ABCD
@4 2 3 1 b2 3 41
©3 41 2 d4 31 2

UPPCS (Main) G.S. 2003)
Ans. (d) : The correct match is as follows :-
(River) (Tributary)
Ganga Son
Godavari Manjra/Manjira
Krishna Bhima
Yamuna Ken

170. Consider the following statements and select the
correct answer from the codes given below:
Assertion (A): All rivers originating from the

Himalayas are perennial.

Himalayas receive much of their

precipitation from South-Western

monsoon.

Reason (R) :

Codes :

(a) Both (A) and (R) are correct and (R) is the
correct explanation of (A).

(b) Both (A) and (R) are correct, but (R) is not
the correct explanation of (A).

(¢) (A)istrue, but (R) is false.

(d) (A) is false, but (R) is true.

UPPCS (Main) G.S. I* Paper 2011

Ans. (b) Himalayan rivers are perennial in nature

because:

1. Most of the Himalayan rivers originate in snow
covered regions of Himalayan range. This makes
the rivers to be adequately fed by rains especially
during the rainy season which is through
southwesterly monsoon winds

2. The Himalayan rivers are perennial because they
are fed by the melting snow during summer, when
there is no rain.

Therefore, (b) is correct options.

171. The memorandum of the understanding has

been signed in connection with the project for
connecting two rivers for the first time in two
states. The name of states and rivers are-

State Rivers

(a) Punjab and Rajasthan Beas and Banas

(b) Uttar Pradesh and Ken and Betwa
Madhya Pradesh

(c) Karnataka and Krishna and
Tamil Nadu Godavari

(d) Uttar Pradesh and Gomati and Harda
Bihar

UPPCS (Pre) G.S. 2006
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Ans. (b) The memorandum of understanding (MOU)
had been signed to connect two rivers between two
states (Uttar Pradesh and Madhya Pradesh) first time
for linkage of Ken and Betwa rivers in 2005. The
project lies in Bundelkhand and will benefit drought
prone region which spreads across 13 districts of Uttar

Pradesh and Madhya Pradesh.

172. With reference to the river Luni, which one of

the following statements is correct?

(a) It flows into Gulf of Khambhat

(b) It flows into Gulf of Kutch

(c) It flows into Pakistan and merges with a
tributary of Indus

(d)

Kutch
(IAS (Pre) G.S. 2010)

It is lost in the marshy land of the Rann of

175. There are two statements in the question. one
labeled as the 'Assertion(A)' and the other as
'Reason(R)' You are to examine these two
statements carefully and select the answers to
these items using the codes given below :
Assertion (A): West-flowing rivers of Peninsular
India have no deltas
Reason (R): These Rivers do not carry any alluvial
sediment.

Code :

(a) Both A and R are individually true and R is the
correct explanation of A.

(b) Both A and R are individually true but R is not
the correct explanation of A.

(c) Ais True but R is false

(d) A is false but R is true

(IAS (Pre) G.S. 2004)

Ans. (d) River Luni drains into marshy land of Rann
of Kutch. Luni River, is in Rajasthan state, western
India. Rising on the western slopes of the Aravalli
Range near Ajmer, where it is known as the Sagarmati,
the river flows generally southwestward through the
hills and across the plains of the region. It discharge in
Rann of Kutch.

173. Consider the following statements:
1. There are no east flowing rivers in Kerala.
2. There are no west flowing rivers in Madhya
Pradesh.
Which of the above statements is/are correct?
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

(IAS (Pre) G.S. 2009)
Ans. (d) There are three major rivers which rise in Kerala
and flow eastwards: * Kabani ¢« Bhavani « Pambar
There are many west flowing rivers in Madhya
Pradesh including: « Narmada « Tapti (Tapi) « Mahi
Hence, both of the statements are incorrect.

174. Assertion (A): River Kalinadi is an east-flowing
river in the southern part of India.
Reason(R): The Deccan Plateau is higher along its
western edge and gently slopes towards the bay of
Bengal in the east.
Code :
(a) Both A and R are individually true and R is
the correct explanation of A.
(b) Both A and R are individually true but R is
not the correct explanation of A.
(¢c) Ais True but R is false
(d) A is false but R is true
(I.A.S. (Pre) G.S. 2007)

Ans. (d) The Kali River is a west flowing river
through Uttara Kannada district of Karnataka. The
river rises near Kushavali, a small village in Uttar
Kannada district and discharges in Arabian sea. The
Deccan Plateau is higher along its western edge and
gently slopes towards the Bay of Bengal in the east.

Ans. (a) Peninsular rivers like Narmada and Tapti flow

through rift valleys and there is lack of alluvial deposit,

therefore they form estuaries at their mouth and not deltas.

176. Assertion (A): The west flowing rivers of Western

Ghats of India do not form delta.

Reason (R): They flutter on relatively rigid cliffs

from small flowing areas.

Consider the following statements and select the

correct answer from the code given below:

Code :

(a) Both A and R are individually true and R is
the correct explanation of A.

(b) Both A and R are individually true but R is
not the correct explanation of A.

(c)

(d)

A is True but R is false
A is false but R is true
UP RO/ARO (M) G.S. 2013
UP UDA/LDA (Pre) G.S. 2010

Ans. (a) Peninsular river are much older than the
Himalayan rivers. They are non-perennial rivers with a
maximum discharge in the rainy season.The rivers are
characterized by broad and shallow valleys. The main
water divide in peninsular rivers is formed by the
Western Ghats, which run from north to south close to
the western coast.The velocity of water in the rivers
and the load carrying capacity of the streams is low
due to low gradient. Most of the major rivers of the
peninsula such as, the Godavari, the Krishna and the
Cauvery flow eastwards and drain into the Bay of
Bengal. These rivers make deltas at their mouths. But
the west flowing rivers like Narmada and Tapi as well
as those originating from the Western Ghats and
falling in the Arabian Sea form estuaries in place of
deltas as they flutter on relatively rigid cliffs from

small flowing areas.

177. What is the correct sequence of the rivers —

Godavari, Mahanadi, Narmada and Tapi in the
descending order of their lengths?
(a) Godavari-Mahanadi-Narmada-Tapi
(b) Godavari-Narmada-Mahanadi-Tapi
(c) Narmada-Godavari-Tapi-Mahanadi
(d) Narmada-Tapi-Godavari-Mahanadi
(IAS (Pre) G.S. 2003)
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Ans. (b) The correct sequence of the rivers —
Godavari, Mahanadi, Narmada and Tapi in the
descending order of their lengths

RIVER Length in kms

Godavari 1465

Krishna 1400

Narmada 1312

Mahanadi 851

Kaveri 800

Tapi 724

178. The correct sequence of the eastward flowing
rivers of the peninsular India from north to

south is:

(a) Subarnarekha, Mahanadi, Godavari, Krishna,
Pennar, Cauvery and Vagai

(b) Subarnarekha, Mahanadi, Godavari, Cauvery,
Vaigai, Krishna Pennar

(c) Mahanadi, Subarnarekha, Godavari, Krishna,
Cauvery, Pennar and Vaigai

(d) Mahanadi, Subarnarekha, Krishna, Godavari,
Cauvery, Vaigai and Pennar

(IAS (Pre) GS 2002)

Ans. (a) Correct sequence of the eastward flowing
rivers of the peninsular India from north to south is:
Subarnarekha, Mahanadi, Godavari, Krishna, Pennar,
Cauvery and Vaigai.

Ans. (¢) The Drainage Pattern of the South Indian
Rivers is mostly Dendritic in nature. A drainage
pattern in which the streams branch randomly in all
directions and at almost any angle, resembling in
pattern the branching habit of certain trees is called
Dendritic drainage pattern. It is produced where a
consequent stream receives several tributaries which in
turn are fed by smaller tributaries.

182. Which of the following pair is correctly
matched?
Rivers States
(a) Indravati Jharkhand
(b) Bhima Tamil Nadu
(c) Luni Rajasthan
(d) Ghatprabha Kerala
Jharkhand PSC (Pre) G.S. I'2016
Ans. (¢) The Luni is one of the few west-flowing

rivers going towards the mostly desert land of western
Rajasthan. Indravati flows is in Chhattisgarh, Bhima

and Ghatprabha flows through Maharshtra, and
Karnataka.
183. Damodar is a tributary of-
(a) Ganga (b) Hooghly
(c) Padma (d) Suvarna Rekha
UPPCS (Pre) G.S. 2008

UP UDA/LDA (Pre) G.S. 2006

179. Consider the following rivers:
1. Kishanganga 2. Ganga
3. Wainganga 4. Penganga
The correct sequence of these rivers when
arranged in the north-south direction is
(1,2,3,4 ) 2,1,3,4
()2,1,4,3 (d)1,2,4,3
(IAS (Pre) G.S. 1996)
Ans. (a) The correct sequence of these rivers when
arranged in the north-south direction is Kishanganga
(a tributary of Jhelum river)
Ganga
Wainganga
Penganga

180. In ancient Indian historical geography the name
‘Ratnakara’ denoted
(a) the Arabian Sea
(b) the Bay of Bengal
(c) the Indian Ocean
(d) the confluence of the Ganga, the Yamuna and
the mythical Saraswati at Prayaga
(IAS (Pre) G.S. 1994)
Ans. (¢) In ancient Sanskrit literature Indian ocean was
called as Ratnakara because of its resource-richness.

181. The rivers of South India mainly have which of
the following drainage patterns?

(a) Radial (b) Intermittent
(c) Dendritic (d) Trellis
UPPCS (Pre) GS, 2014

Ans. (b) The Damodar river rises in the hills of
the Chota nagpur Plateau and flows through a rift
valley. It joins the Hooghly River. Damoder river is
considered as a bio-desert river because of its highly
polluted condition and presence of industrial waste.

184. Damodar river originates from-

(a) Tibet
(b) Plateau of Chhota nagpur
(c) Near Nainital
(d) Western slope of Someshwar hills
BPSC (Pre) G.S. 1994

Ans. (b) Kindly refer the explanation of above
question.

185. Which of the following rivers of India is called

'Biological Desert'?

(a) Noyal (b) Damodar
(c) Bhiwani (d) Bhadar
UP Kanoongo Exam. 2015
UP PCS (Pre) G.S. 2017

UP RO/ARO (Pre) G.S. 2013

Ans. (b) Kindly refer the explanation of above
question.

186. Which one of the following east flowing rivers of

India has rift valley due to down warping?
(a) Damodar (b) Mahanadi
(c) Son (d) Yamuna
(IAS (Pre) G.S. 1998)

Ans. (a) Down warp is when a Segment of earth's crust
broadly bent downward. River Damodar flows in rift
valley formed due to down warping.
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187. Consider the following statements :
Assertion (A): Damodar river was known as ‘river
of sorrow’ before the development of Damodar
Valley Corporation.
Reason (R): Damodar flows rapidly in its upper
part and its drift in the lower part becomes very
slow.
Select the correct answer from the code given
below:
Code :
(a) A and R both are correct and R is the correct
explanation of A.
(b) A and R both are correct but R is not the
correct explanation of A.
(c) A istrue but R is false.
(d) A is false but R is true.
UPPCS (Pre) GS, 2010
Ans. (a) River Damodar is known as sorrow of Bengal

because of its ravaging floods in the plains of West
Bengal. It is one of most polluted river of India.

188. Which river is called ‘Sorrow of Bengal’?
(a) Damodar (b) Gandak
(c) Kosi (d) Son
Jharkhand PSC (Pre) G.S. 2008
Ans. (a) Kindly refer the explanation of above
question.

189. The rivers cutting Himalayas southward and
flowing through gorges are-
(a) Sutlej, Sindhu, Ganga
(b) Brahmaputra, Sutlej, Sindhu
(c) Brahmaputra, Sindhu, Ganga
(d) Sutlej, Brahmaputra, Yamuna
BPSC (Pre) G.S. 2003-04

Ans. (b) The Rivers that existed before the upheaval of
the Himalayas and cut their courses southward by
making gorges in the mountains are known as the
antecedent rivers. The Indus (Sindhu), Sutlej, Ganga,
Sarju (Kali), Arun (a tributary of Kosi), Teesta and
Brahmaputra are some of the important antecedent
rivers.

190. Which one of the following statements is not
correct?
(a) Mahanadi originates in Chhattisgarh.
(b) Godavari originates in Maharashtra.
(c) Kaveri originates in Andhra Pradesh.
(d) Tapti originates in Madhya Pradesh.
(IAS (Pre) G.S. 2006)
UP RO/ARO (M) G.S. 2013

Ans. (c) River Kaveri originates in the Brahmagiri
hills in Kodagu, in a place called Taalkaveri (head of
Kaveri) in Karnataka. The Godavari is the largest
peninsular river system. It is also called the
Dakshin/Vridh Ganga. It rises in the Nasik district of
Mabharashtra and discharges its water into the Bay of
Bengal.River Tapti originates from Multai at the Betul
plateau, in Madhya Pradesh and flows westward and falls

in to the Arabian Sea.

191. List I (Rivers)

(a) Brahmaputra (b) Damodar
(c) Krishna (d) Narmada
List II (Source and their mouth)

1. Chandwa-Hooghly River

2. Mahabaleshwer - Hamesaladeevi

3. Angsi Glacier - Ganges Delta

4. Amarkantak - Gulf of Khambhat
Code:
@ (b () @
@A @ @O @ O3
B3 @O 2 @
© 6 @G @ @O
O @ 3G @) @

Manipur PSC-2013

Ans. (b) : The correct match is as follows :-

River Source Mouth
Brahmaputra ~ Angsi Glacier ~ Ganges Delta
Damodar Chandwa Hooghly River
Krishna Mahabaleshwer Hamesaladeevi
Narmada Amarkantak Gulf of Khambhat

192. Which of the following rivers of India crosses
the tropic of cancer twice?
(a) Mahi (b) Chambal
(c) Narmada (d) None of the above
UPPSC RO/ARO (Re-exam) 2016

Ans. (a) : River Mahi originates in Vindhya ranges in

state of Madhya Pradesh. It is one of the few west

flowing rivers which fall in Arabian sea in Gulf of]

Khambat. It crosses the tropic of Cancer twice.

193. Match List-I with List-II and select the correct
answer using the codes given below the lists:
List-I List-11
A. West flowing river 1. Damodar
B. Trans Himalayan 2. Godavari

river
C. Vridha Ganga 3.
D. Sorrow of Bengal
Codes:
A

Tapti
Sutlej

b

(a)
(b)
(©
(d)

D
1
1
4

DN AW
»—t»—i[\)[\)n

4
3
3
4 3

UPPSC ACF/RFO (Mains) 2018

Ans: (b)

West flowing river
Trans Himalayan river
Vridha Ganga

Sorrow of Bengal

194. Which of the following river feeds the "Idukki

Tapti
Sutlej
Godavari
Damodar

Dam"?
(a) Godavari (b) Periyar
(c) Kaveri (d) Tunga Bhadra

Nagaland Ncs Prelims, 2018
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Ans. (b) : The Idukki Dam is located in Kerala, India. It
was constructed and is owned by the Kerala State
Electricity Board. It supports a 780 MW hydroelectric
power station. It is built on the Periyar River.

195. Match List-I with the List-II and select the
correct answer from the code given below.
List-1 List-11
(a) Bhakra Nangal (i) Mahanadi
(b) Hirakud (i1) Bhagirathi

(c) Nagarjunasagar (iii) Sutlej

(d) Tehri (iv) Krishna
Code:
@ () (© (@
(A) () (i) @) (1)
(B) () (1) (v) (i)
(©) () (1) @) (@)
D) () (@) (@v) (i)

NAGALAND NCS PRELIMS, 2018

Ans. (b) : The correct match is as follows :-
Dam River
Bhakra Nangal Sutlej
Hirakud Mahanadi
Nagarjunasagar Krishna
Tehri Bhagirathi
196. Chandra and Bhaga rivers in ....flow through
the region
(a) Spiti (b) Ladakh
(c) Lahaul (d) Kargil
(e) None of the above/More than one of the
above

66th BPSC Re- Exam- 2020
UPPSC (J) 2023

Ans. (¢): Chandra and Bhaga rivers meet at Tandi, in

the Lahaul and Spiti district of Himachal Pradesh to

form Chandrabhaga River.

197. Which of the following statements are correct
in context with Himalayan and Peninsular
Rivers of India?

1. The Brahmaputra river courses are more or
less straight.

2. The Himalayan river course are more or less
straight.

3. The peninsular river courses are serpentine.

4. The peninsular river valley courses are not
deep.

(a) Only 1 and 2

(c) Only 2 and 3

(b) Only 1 and 4

(d) Only 1 and 3
Gujrat PSC 2018

Ans. (b): The Brahmaputra river courses are more or

less straight is correct.

The peninsular river valley courses are not deep because

the rivers flowing in peninsular region and are seasonal

and rainfed.

Hence, Statements 1 and 4 are correct.

198. Consider the following rivers:

Which of the above rise from the Eastern

Ghats?
(a) 1and 2 (b) 2and 4
(¢c) 3and 4 (d) 1and 3

UPSC (IAS) Pre 2021

Ans. (b) : Brahmani and Subarnarekha originate from
Central Indian Plateau regions.

Vamsadhara River is an east-flowing river which
originates in Kalahandi district of Odisha i.e; Eastern
Ghats. The River Nagavali known as Langulya which
also originates in Kalahandi district of Odisha i.e;
Eastern Ghats is one of the main rivers of Southern
Odisha and Northern Andhra Pradesh States in India,
between Rushikulya and Godavari basins.

Statement- 1 and 3 are incorrect, while 2 and 4 are correct.

Hence, option (b) is the correct answer.

199. Match List-I with List-II and select the correct
answer using the code given below the lists:

List-I List-II
(Tributaries) (Rivers)
A. Betwa i.  Chambal
B. Kshipra ii. Yamuna
C. Wainganga iii. Narmada
D. Tawa iv. Godavari
Codes:

A B C D
(a) i iv i i
M) i i v il
(¢) iii iv 1 i
(d i1 il i v

MPPSC Pre 2022

Ans. (b): The correct match is as as follows-
(Tributaries) (Rivers)
Betwa i. Yamuna
Kshipra ii. Chambal
Wainganga iii. Godavari
Tawa iv. Narmada

200. Rihand and Mand rivers of Chhattisgarh
originate from :
(a) Chilphi Ghati
(b) Maikal Hill
(c) Mainpat
(d) None of the above
CGPSC Pre 2022

Ans. (¢) : The Rihand river arises from the Matiranga
hills in South-Western region of Mainpat plateau and is
located 2000 meters above the sea level. The Mand
river, which has a total length of 241 Kilometers, rises
to a height of roughly 686 meters in Chhattsigarh
Surguja district. It drains the southern half of the
Mainpat Plateau, which covers an area of around 5200
km®.
201.

Gandikota canyon of South India was created
by which one of the following rivers?
(a) Cauvery (b) Manjira

1. Brahmani 2. Nagavali (c) Pennar (d) Tungabhadra
3. Subarnarekha 4. Vamsadhara UPSC IAS 2022
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Ans. (¢): Gandikota canyon of South India was created
by The river Pennar. The swift-flowing waters of River
Pennar cut through the granite rocks near the village of
Gandikota, naturally eroding the rock and forming

Gandikota Canyon.

202. Phalgu, a sacred river flowing in Bihar, is
formed by the confluence of which of the
following rivers?

(a) Lilajan and Son rivers

(b) Son and Mohana rivers

(c) Mohana and Lilajan rivers

(d) More than one of the above

(e) None of the above

68th BPSC 2022
Ans. (¢): The plalgu River originates for the confluence
(somewhere in the range of 3 Kilometer beneath both
Gaya) of the Lilajan river and Mohana river. Hence,
option (c) is correct answer.
203. Match list-I with list-II and choose the correct
answer from the code given below-
List-I List-11
(River) (Tributary)
(A) Godavari (i) Bhavani
(B) Mahanadi (ii) Penganga
(C) Damodar (iii) Seonath
(D) Kaveri (iv) Barakar
Code:
(a) A-(iv), B-(i1)), C-(i), D-(iii)
(b) A-(ii), B-(iii),C-(iv),D-(i)
(c) A-(i), B-(ii), C-(iv), D-(iii)
(d) A-(iii), B-(i), C-(ii), D-(iv)
RPSC (RAS) (PRE.) 2021

Ans. (b): The correct Match is as follows :
River Tributary
Godavari Penganga
Mahanadi Seonath
Damodar Barakar
Kaveri Bhavani
204. Example of Inland drainage river is
(a) Mahi (b) Ghaggar
(c) Narmada (d) Krishna

MPPSC (Pre.) G.S. Ist Paper 201

Ans. (b) The Ghaggar is an example of inland drainage
river. The Ghaggar River originates from the Kalka
hills of Shiwalik Range near Shimla in Himachal
Pradesh and ends in Bhatner desert in Hanumangarh
district of Rajasthan.Inland Drainage is that drainage in
which rivers do not reach an ocean or sea but empty
their waters in a lake or an inland sea.
205. Which one of the following river has the highest

number of glaciers in the area of its origin?

(a) Yamuna (b) Bhagirathi

(c) Alakananda (d) Pindar

UK RO-ARO (Pre.) 2021

Ans. (c): Total number of glaciers identified in Ganga
basin is 968 with the glacier covered area coming to
about 2,850 sq. km, which is less than 8% of the total
basin area. Largest number of glaciers- totaling 407- has
been identified in the Alakananda basin that occupies

1,230 sq. km, which accounts for almost 11% of total
basin area.
Yamuna basin has the least number at glaciers,
numbering 52, occupying 145 sq. km as the glacier
covered area, which comes to just about 2% of the total
basin area.

206.Which one of the following rivers is NOT the part
of Indian Ganga river basin?

(a) Punpun river (b) Ajoy river
(c) Jalangi river (d) Jonk river
UPPCS (pre.) 2021

Ans. (d): Jonk River is a tributary of the Mahanadi
River that flows in the State of Chhattisgarh and
Odisha. Rest of all are part of the Ganga river basin.
207. The Khatling glacier is the origin-place of:

(a) Jalkur river (b) Bhilangana river

(c) Pilang Gangariver (d) Balganga river

Uttarakhand RO/ARO G.S. 2016

Ans. (b) Khatling glacier is located in district Tehri
Garhwal of Uttarakhand. Khatling glacier is a very
important glacier of Garhwal Himalayass due to the
source of Bhilangna River.

208. The rivers listed before upheavals and flow
through Himalayas are:
(a) Sutlej, Sindhu, Ganga
(b) Brahmaputra, Sutlej, Sindhu
(c) Brahmaputra, Indus, Ganga
(d) Sutlej, Brahmaputra, Yamuna
BPSC (Pre) G.S. 2003-04

Ans. (b) The Rivers that existed before the upheaval of
the Himalayas and cut their courses southward by
making gorges in the mountains are known as the
antecedent rivers. The Indus (Sindhu), Sutlej, Ganga,
Sarju (Kali), Arun (a tributary of Kosi), Teesta and
Brahmaputra are some of the important antecedent
rivers, originating from beyond the Greater Himalayas.

209. Compare the Himalayan river with the Peninsular
river based on the following comparisons :

1. Most of the Himalayan rivers are
perennial, whereas most of the Peninsular
Rivers are rain fed.

2. The gradient of the Himalayan river is
steeper than the Peninsular river.

3. The Peninsular river causes more erosion on
its way in comparison to the Himalayan river.

Choose the correct answer from the options

given below.

(a) 1 and 2 only (b) 2 and 3 only

(c) 1 and 3 only (d) 1,2 and 3

(e) None of the above/More than one of the above

67" BPSC Pre Exam- 2022 (08.05.2022)

Ans. (a): Himalayan rivers and their major tributaries
are perennial in character because these rivers obtain
their water from glaciers, springs and rains on the other
hand, the peninsular rivers are mostly rain fed and they
are non-perennial. The Himalayan rivers are highly
tortuous because of steeper gradient in comparison to
peninsular rivers and hence cause more erosion on their
way in comparison to peninsular river.
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210. Consider the following pairs:

Glacier :  River
1. Bandarpunch Yamuna
2. Bara Shigri Chenab
3. Milam Mandakini
4. Siachen Nubra
5. Zemu Manas

Which of the pair given above are correctly

matched?
(a) 1,2and 4 (b) 1,3 and4
(c) 2and5 (d) 3and5

IAS (Pre)-2019

Ans. (a) An important glacier of Yamuna river basin is
Bandarpunch Glacier in the Garhwal division of the
Himalayas. It is 12 km long glacier situated on the
Northern slopes of Bandarpunch West, Khatling peak
and Bandarpunch peak. Hence, pair 1 is correctly
matched Bara Shigri is the largest glacier located in
Lahaul Spiti region in Chandra Valley, Himachal
Pradesh. and feeds Chenab river Hence, pair 2 is
correctly matched.

Milam Glacier in Munsivari, Pithoragarh district,
Uttarakhand is the source of Gori Ganga River and not of
Mandakini River. Hence, pair 3 is not correctly matched.
Siachen Glacier in Kashmir is the source of the Nubra
river tributary of Shyok river (parts of indus river
system). Flowing into Pakistan and the Arabian Sea.
Hence, pair 4 is correctly matched.

The Zemu glacier is the largest in the Eastern Himalayas
in Sikkim. It is at the base of the Kanchenjunga and is one
of the sources for the Teesta not Manas river. Hence, pair
5 is not correctly matched.

211.

Which of the following statement(s) is(are)

correct with reference to the difference

between Himalayan Rivers and Peninsular

Rivers?

1. The Himalayan Rivers rise in the
snowfields and carry water throughout the
year whereas the Peninsular are rain fed.

2. Due to difference in character of the
landforms the rivers of the Himalayan
region follow highly serpentine courses
whereas the rivers of the peninsular

plateau flow through mostly straight
channels.
(a) Only 1 (b) Only 2
(c) Both 1 and 2 (d) Neither 1 nor 2
Gujrat PSC 2018

Ans. (c): Both 1 and 2 are correct statement. The
Himalayan Rivers rise is snowfield and carry water
throughout the year whereas the Peninsular are rainfed.
Due to difference in character of the landforms the
rivers of the Himalayan region follow highly serpentine
courses whereas the rivers of the Peninsular plateau
flow through mostly straight channels.
212. ‘Doodh Ganga’ river is located in:
(a) Jammu and Kashmir
(b) Himachal Pradesh
(c) Uttarakhand
(d) West Bengal

UPPCS (Pre.) G.S. Re-exam. 2015

Ans. (a) ‘Doodh Ganga’ (also called Chaz Kull in
Kashmiri) river is located in Jammu and Kashmir. It is
a tributary of Jhelum. Also Doodhganga is a right bank
tributary of the Krishna (western India) in Sindhudurg
district of Maharashtra).

Cities Located on River Banks ||

213. What will be the correct sequence of cities on
the bank of River Ganga if someone moves
from east to west?

(a) Patna, Allahabad, Varanasi, Kanpur
(b) Varanasi, Patna, Allahabad, Kanpur
(c) Patna, Varanasi, Allahabad, Kanpur
(d) Varanasi, Patna, Kanpur, Allahabad
JKPSC (Pre) 2023

Ans.(c): Sequence of cities on the bank of river Ganga
if someone moves from east to west is — Patna,

Varanasi, Allahabad, Kanpur.

214. Match the rivers (List-I) with the places on

their banks (List-II) in Assam :

List-I List -11
(a) Barak 1. Sivasagar
(b) Brahmaputra 2. Golaghat
(c) Dikhow 3. Silchar
(d) Dhansiri 4. Goalpara

Select the correct answer using the codes given
below.
(a) a
4
(b) a
1
(c) a
3
(d) a
3

~AC AT WO WO
— 0 N0 DO NO
[\ R TS o RN VRN = R =

Assam PSC (Pre) 2022

Ans.(d): The correct match is as follows :-
List-1 List-I1
Barak - Silchar
Brahmaputra —  Goalpara
Dikhow —  Sivasagar
Dhansiri —  Golaghat
215.Gorakhpur has been situated on the bank of
river-
(a) Ghaghra (b) Gandak
(c) Rapti (d) Saryu
UP RO/ARO (M) G.S. 2013

Ans. (¢) Gorakhpur is situated on the bank of Rapti

river in the state of Uttar Pradesh.

216. Which of the following city is not located at

river bank?

(a) Ahmedabad (b) Bhopal
(c) Cuttack (d) Gorakhpur
UPPCS (Pre) Opt. Geog. 2007
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